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2.1
2.1.1 M-@

2.1.2

2.1.3

- [ON]
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2.2
2.2.1
-1,V
-111(H14)
- 2007
2.2.2
B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mn) 10278.4
y A(Mm*) 5.0000E-001 | A" (m*) 0.0000E+000
p
yu(m) 0.250 | yI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© °olo o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | WzI(m) 0.042
H
Wyr(m) 0.083 | Wyl (n’) 0.083
o o o © Ao(m) 2.000 | Ai(m) 0.000
J(m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
IZD I ]:S’D
Wzu = , Wzl = , Wyr = —, Wyl = —
yl zl
2.2.3
@
Os (N/mm’) E.(N/mm”)
0= (N/mm*) v-(kN/m*)
0" (N/mm*) Vs
O=[ T(N/mm?) a(1/°C)
o=l T(N/mm?) Go(N/mm")
O T(N/mm?)
ou[ T(N/mm’)
Ox[ T(N/mm*)
SD295 295.00 2.00E+005
442 .50 24.5
180.00 0.300
180.00 1.0E-005
198.00 7.69E+004
180.00
160.00
100.00

FORUMS8



@
a" o (N/mm®) Tu( -1V) (N/mm?) E-(N/mm*)
Goe (N/mm*) T2 -1V)(N/mm?) v-(kN/m?)
T (N/MM*) T( -1 (N/mm®*) Ve
Oeas (N/ ) ©( -1V, VY(N/mm?) | a(1/°C)
Gt (N/Mm?) Toax(N/MM?) T,(N/mm*)
0.(N/mm®) Go(N/mm*)
24MPa 24.00 0.23 2.50E+004
1.91 1.70 24.5
8.00 0.39 0.147
9.00 0.35 1.0E-005
6.50 3.20 1.60
0.80 | 1.09E+004
2.2.4
@
1)
a)
o 24MPa
Epeak 2000.0 p 856,
€ 3500.0
O 24.00 N/mm?
0.850u« 20.40 N/mm*
2000 e
BRI
2)
R
&(1) o,(N/mn’)
D29 SD295 D29 1475.0 295.00

FORUMS8
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1)
a)
. 24MPa
(o
£ e 2000.0 H -
£ 3500.0 p
L 24.00 N/mm?
Ve 1.300
k1 0.850
f cd 18.46  N/mm’
k1*f"cd 15.69  N/mm*
€peak Eu B
20073V R
2)
g
20073078
(W) o (N/mm?) | Fro(N/mm?) Vi
D29 SD295 D29 1475.0 295.00 295.00 1.000
2.2.5
@
b(m) d(m) e(m) Ast(mm?)
Zp(+iyp) 0.5000 0.7500 0.0000 5139.2
Zp(-Myp) 0.5000 0.7500 0.0000 5139.2
Yp(+Wizp) 1.0000 0.4400 0.0000 5139.2
Yp(-Mzp) 1.0000 0.4400 0.0000 5139.2

FORUMS8




@

CFRP

zp yp
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zp yp
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2.3.1
-1,V
-111(H14)
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2.3.2
B (m) 0.500
H (m) 0.500
(SD295) D32*10 7942.0
(mm? 7942.0
A(Mm*) 2.5000E-001 | A" (m*) 0.0000E+000
Yp
O O yu(m) 0.250 | yI(m) 0.250
zr(m) 0.250 | zI(m) 0.250
1,(m) 5.2083E-003 | 1,(m) 5.2083E-003
Wzu(m®) 0.021 | wzI(m) 0.021
H
Wyr(m®) 0.021 | Wyl(m®) 0.021
Ao(m) 1.500 | Ai(m) 0.000
J(m) 8.6352E-003 | B(°) 0
O O O O O -
Ao :
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IZD I ]:S’D
Wzu = , Wzl = , Wyr = —, Wyl = —
yl zl
2.3.3
@
Os (N/mm’) E.(N/mm”)
0= (N/mm®) v-(kN/m*)
0" (N/mm*) Vs
0= T(N/mm?) a(1/°C)
o=l T(N/mm?) Go(N/mm")
O.[ T(N/mm?)
O.[ T(N/mm?)
Ox[ J(N/mm’)
SD295 295.00 2.00E+005
442 .50 24.5
180.00 0.300
180.00 1.0E-005
198.00 7.69E+004
180.00
160.00
100.00

FORUMS8
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@
a" o (N/mm®) Tu( -1V) (N/mm?) E-(N/mm*)
Goe (N/mm*) T2 -1V)(N/mm?) v-(kN/m?)
T (N/MM*) T( -1 (N/mm®*) Ve
Oeas (N/ ) ©( -1V, VY(N/mm?) | a(1/°C)
Gear (N/MM*) Toax(N/MM?) T.(N/mm?)
0.(N/mm®) Go(N/mm*)
24MPa 24.00 0.23 2.50E+004
1.91 1.70 24.5
8.00 0.39 0.147
9.00 0.35 1.0E-005
6.50 3.20 1.60
0.80 | 1.09E+004
2.3.4
@
1)
a)
o 24MPa
Epeak 2000.0 p 856,
€ 3500.0
O 24.00 N/mm?
0.850u« 20.40 N/mm*
2000 e
BRI
2)
R
&(1) o,(N/mn’)
SD295 D32 1475.0 295.00

FORUMS8
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1)
a)
o 24MPa
o]
€% pea 2000.0 u k1 g
£ 3500.0 u
o 24.00 N/mm’®
Ve 1.300
k1 0.850
f*cd 18.46  N/mm’
k1*f"cd 15.69  N/mm’
heak g, ¢
20073ViR
2)
fyd
200731ViR
(W) o (N/mm?) | Fro(N/mm?) Vi
SD295 D32 1475.0 295.00 295.00 1.000
2.3.5
@
b(m) d(m) e(m) Ast(mm®)
Zp(+iyp) 0.5000 0.3700 0.0000 3971.0
Zp(-Myp) 0.5000 0.3700 0.0000 3971.0
Yp(+Mzp) 0.5000 0.4500 0.0000 3971.0
Yp(-Mzp) 0.5000 0.4500 0.0000 3971.0
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CFRP

zp yp
tanp + tany 0.000 0.000
h(m) 0.0000 0.0000
zp yp
Cds 1.000 1.000
Aw(mm?) 573.0 573.0
a(m) 0.1500 0.1500
08(°) 90.00 90.00
SD295 SD295

[OFF]
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PC
k1 1.000 1.000
C (mm) 30.0 30.0
Cs(mm) 150.0 150.0
D (mm) 22.0 22.0
g cs() 150.0 150.0
asp(N/mm*)
PC
120.00 120.00
120.00 120.00
120.00 120.00
2002 , 2007 H16
PC
(mm) 25.0 25.0
k2" (N/mm?) 30.00 30.00
n ( ) 1 1
*)
D
Zp yp
tanac + tanat ©) 0 0
Mu : N* =0
Bn : Md >= Mud 7/ 2
Vyd
2)
Zp yp
Aw (mm*) 573.0 573.0
a (m) 0.1500 0.1500
©) 90 90
(N/mm?) 440.00 440.00
(N/mm?) 295.00 295.00
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®)
N () 2000000
@ (mm) 22.0
@ (mm) 16.0

op=0

ko 1.000

()
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2.4

2.4.1 2
(1) X = 0.000
D
N* Sy Sy Mz
12.5 25.6 0.0 0.0 0.0 -19.9
116.9 238.7 0.0 0.0 0.0 -185.8
217.5 65.8 0.0 0.0 0.0 -151.2
-183.2 -189.0 0.0 0.0 0.0 320.5
L1 -7.8 -2.5 0.0 0.0 0.0 7.8
L1 6.7 -28.2 0.0 0.0 0.0 70.8
L1 -41.7 -52.5 0.0 0.0 0.0 99.8
(st.) 37.9 55.7 0.0 0.0 0.0 -64.6
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -—- -—-
L1 --- -
L1 -—- -—
(st.) - —-—
(Non St.) - —-—
N* Sy S Mz
163.8 141. 0.0 0.0 -36.5
L1 108.5 32.3 0.0 0.0 161.8
On On -— -
L1 On On -— -

FORUMS8
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u.
S.
F.
Per. :
Var. :
N* Sy Mz
Limit State 1 108.5 32.3 0.0 0.0 0.0 161.8
Per. 163.8 141.1 0.0 0.0 0.0 -36.5
Var. 12.5 25.6 0.0 0.0 0.0 -19.9
Per. 163.8 141.1 0.0 0.0 0.0 -36.5
Var. 12.5 25.6 0.0 0.0 0.0 -19.9
(2) X = 3.700
iy
N*® Sy M-
12.5 -10.7 0.0 0.0 0.0 7.7
116.9 -99.5 0.0 0.0 0.0 71.7
217.5 65.8 0.0 0.0 0.0 92.1
-183.2 -189.0 0.0 0.0 0.0 -378.7
L1 -0.6 -2.6 0.0 0.0 0.0 -1.8
L1 25.7 -38.6 0.0 0.0 0.0 -57.9
L1 30.1 -45.5 0.0 0.0 0.0 -76.9
(St.) 37.9 10.4 0.0 0.0 0.0 57.7
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 - - -
L1 -— - -
L1 -— -—- -—-
(St.) -—- -—- -—
(Non St.) -—- -—- -—-
N* Sy M.,
163.8 -233.4 0.0 0.0 -207.2
L1 206.4 -309.4 0.0 0.0 -351.4
On On -—- -
L1 On On - -

FORUMS8
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2.4.2

u.
S.
F.
Per. :
Var. :
Syp sz
Limit State 1 206.4 -309.4 0.0 0.0 0.0 -351.4
Per. 163.8 -233.4 0.0 0.0 0.0 -207.2
Var. 12.5 -10.7 0.0 0.0 0.0 7.7
Per. 163.8 -233.4 0.0 0.0 0.0 -207.2
Var. 12.5 -10.7 0.0 0.0 0.0 7.7
5
(1) X = 0.000
1)
N*® Syn Sm Myp MZD
12.5 10.7 0.0 0.0 0.0 7.7
116.9 99.5 0.0 0.0 0.0 71.7
217.5 -65.8 0.0 0.0 0.0 92.1
-183.2 189.0 0.0 0.0 0.0 -378.7
L1 0.6 -2.6 0.0 0.0 0.0 1.8
L1 -25.7 -38.6 0.0 0.0 0.0 57.9
L1 -30.1 -45.5 0.0 0.0 0.0 76.9
(st.) 37.9 -10.4 0.0 0.0 0.0 57.7
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 - -- -
L1 - - -—
L1 -—- - -—
(st.) _— - I
(Non St.) -— - -—
N*® Sp S» Myo M-
163.8 233.4 0.0 0.0 -207.2
L1 96.1 136.0 0.0 0.0 -78.4

FORUMS8
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on On -— -—
L1 on On -— -—
u.
S
Per. :
Var. :
N® Sy Mzp
Limit State 1 u. 96.1 136.0 0.0 0.0 0.0 -78.4
S. | Per. 163.8 233.4 0.0 0.0 0.0 -207.2
Var. 12.5 10.7 0.0 0.0 0.0 7.7
F. | Per. 163.8 233.4 0.0 0.0 0.0 -207.2
Var. 12.5 10.7 0.0 0.0 0.0 7.7
(2) X = 3.700
1)
N* S M.,
12.5 -25.6 0.0 0.0 0.0 -19.9
116.9 -238.7 0.0 0.0 0.0 -185.8
217.5 -65.8 0.0 0.0 0.0 -151.2
-183.2 189.0 0.0 0.0 0.0 320.5
L1 7.8 -2.5 0.0 0.0 0.0 -7.8
L1 -6.7 -28.2 0.0 0.0 0.0 -70.8
L1 41.7 -52.5 0.0 0.0 0.0 -99.8
(St.) 37.9 -55.7 0.0 0.0 0.0 -64.6
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -— -—- -—-
L1 -—- -—- -—-
L1 — - —
(st.) -— -— -—
(Non St.) -— -— -—
N*® Sy M-
163.8 -141.1 0.0 0.0 -36.5
L1 194.1 -198.7 0.0 0.0 -194.9

FORUMS8




- 22 -

on On -— -— -
L1 on On -— -— -
u.
S
Per. :
Var. :
N* Sy Sz T My Mz,
Limit State 1 u. 194.1 -198.7 0.0 0.0 0.0 -194.9
S. | Per. 163.8 -141.1 0.0 0.0 0.0 -36.5
Var. 12.5 -25.6 0.0 0.0 0.0 -19.9
F. | Per. 163.8 -141.1 0.0 0.0 0.0 -36.5
Var. 12.5 -25.6 0.0 0.0 0.0 -19.9
2.4.3 8
(1) X = 0.000
1)
N' Syn Szp Myp
-12.5 13.6 0.0 0.0 0.0 -22.1
-116.9 126.9 0.0 0.0 0.0 -205.8
268.9 -65.8 0.0 0.0 0.0 153.3
183.2 -369.2 0.0 0.0 0.0 275.5
L1 -5.0 -0.2 0.0 0.0 0.0 -0.7
L1 -8.7 -28.1 0.0 0.0 0.0 71.9
L1 83.3 -64.4 0.0 0.0 0.0 128.3
(st.) -37.9 56.7 0.0 0.0 0.0 -63.6
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 — - - —
L1 - - - -
L1 -— - -—- -—
(st.) -— -- -— -—
(Non St.) -— - -— -—

FORUMS8
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N*® Sy M-
322.6 -294. 0.0 0.0 201.0
L1 404.9 -400. 0.0 0.0 422.6
On on -— -
L1 On On - -
u.
S.
F.
Per. :
Var. :
Syp sz
Limit State 1 u. 404.9 -400.8 0.0 0.0 0.0 422.6
S. | Per. 322.6 -294.4 0.0 0.0 0.0 201.0
Var. -12.5 13.6 0.0 0.0 0.0 -22.1
F. | Per. 322.6 -294.4 0.0 0.0 0.0 201.0
Var. -12.5 13.6 0.0 0.0 0.0 -22.1
(2) X = 3.600
1)
N® S, M.,
-12.5 13.6 0.0 0.0 0.0 26.9
-116.9 126.9 0.0 0.0 0.0 251.2
268.9 -65.8 0.0 0.0 0.0 -83.4
183.2 146.0 0.0 0.0 0.0 -126.3
L1 -2.5 -1.2 0.0 0.0 0.0 -3.6
L1 -25.8 -40.6 0.0 0.0 0.0 -57.7
L1 -26.7 -53.2 0.0 0.0 0.0 -77.3
(st.) -37.9 12.6 0.0 0.0 0.0 61.2
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -— - -
L1 - - -
L1 -—- -—- -—-
(st.) -— -— -—
(Non St.) -— -— -—

FORUMS8
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2.4.4

N*® Sy S» Mye M-
322.6 220.8 0.0 0.0 0.0 68.4
L1 280.2 112.1 0.0 0.0 0.0 -97.1
On on -— -— -
L1 On On - -— -
u.
S.
F.
Per. :
Var. :
N* Sy S T My» Mz
Limit State 1 u. 280.2 112.1 0.0 0.0 0.0 -97.1
S. | Per. 322.6 220.8 0.0 0.0 0.0 68.4
Var. -12.5 13.6 0.0 0.0 0.0 26.9
F. | Per. 322.6 220.8 0.0 0.0 0.0 68.4
Var. -12.5 13.6 0.0 0.0 0.0 26.9
11
(1) X = 0.000
1)
N - Syp Szn Myn MZD
-12.5 -13.6 0.0 0.0 0.0 26.9
-116.9 -126.9 0.0 0.0 0.0 251.2
268.9 65.8 0.0 0.0 0.0 -83.4
183.2 -146.0 0.0 0.0 0.0 -126.3
L1 2.5 -1.2 0.0 0.0 0.0 3.6
L1 25.8 -40.6 0.0 0.0 0.0 57.7
L1 26.7 -53.2 0.0 0.0 0.0 77.3
(St.) -37.9 -12.6 0.0 0.0 0.0 61.2
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0

FORUMS8
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L1 -—- -—- -—-
L1 -—- -—- -—-
L1 -— -— -—
(st.) -— -— -—
(Non St.) -— -— -—
N " Syp Myp MZP
322.6 -220.8 0.0 0.0 0. 68.4
L1 390.1 -302.2 0.0 0.0 0. 180.1
On on -— -
L1 On On -—= -
u.
S.
F.
Per. :
Var. :
Syp sz
Limit State 1 u. 390.1 -302.2 0.0 0.0 0.0 180.1
S. | Per. 322.6 -220.8 0.0 0.0 0.0 68.4
Var. -12.5 -13.6 0.0 0.0 0.0 26.9
F. | Per. 322.6 -220.8 0.0 0.0 0.0 68.4
Var. -12.5 -13.6 0.0 0.0 0.0 26.9
(2) X = 3.600
1)
N " Syn Myp MZD
-12.5 -13.6 0.0 0.0 0.0 -22.1
-116.9 -126.9 0.0 0.0 0.0 -205.8
268.9 65.8 0.0 0.0 0.0 153.3
183.2 369.2 0.0 0.0 0.0 275.5
L1 5.0 -0.2 0.0 0.0 0.0 0.7
L1 8.7 -28.1 0.0 0.0 0.0 -71.9
L1 -83.3 -64.4 0.0 0.0 0.0 -128.3
(st.) -37.9 -56.7 0.0 0.0 0.0 -63.6
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0

FORUMS8
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L1
L1
L1

(st.)
(Non St.)

N®

Sa

Mz

L1

322.6
265.4

294 .4
215.4

[N e]
[eNe]

[eNe]
[eNe]

201.0
23.5

L1

On
On

On
On

Per. :
Var. :

Limit State 1

265.4

215.4

23.5

Per.
Var.

322.6
-12.5

294.4
-13.6

201.0
-22.1

Per.
Var.

322.6
-12.5

294.4
-13.6

oo oo o
[N oo o

oo [eoNe) o
oo oo o

oo oo o
oo oo o

201.0
-22.1

2.4.5

14

(1) X = 0.000

D

S

Mz,

30.5

-12.5

0.0

0.0

0.0

-17.0

FORUMS8
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N*® Sy M-
284.4 -116.9 0.0 0.0 0.0 -158.7
65.8 -117.2 0.0 0.0 0.0 44.1
-189.0 183.2 0.0 0.0 0.0 167.7
L1 -1.9 5.5 0.0 0.0 0.0 -0.6
L1 -15.3 39.0 0.0 0.0 0.0 5.1
L1 -20.8 44.0 0.0 0.0 0.0 62.6
(st.) 78.4 -37.9 0.0 0.0 0.0 -42.9
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -—- - -—-
L1 — - —
L1 — - -
(st.) -— - -—
(Non St.) -— -- -—
N*® Sy M.,
191.7 -63.5 0.0 0.0 36.0
L1 123.2 37.6 0.0 0.0 170.2
On On - -
L1 On On - -
u.
S.
F.
Per. :
Var. :
Syp sz
Limit State 1 u. 123.2 37.6 0.0 0.0 0.0 170.2
S. | Per. 191.7 -63.5 0.0 0.0 0.0 36.0
Var. 30.5 -12.5 0.0 0.0 0.0 -17.0
F. | Per. 191.7 -63.5 0.0 0.0 0.0 36.0
Var. 30.5 -12.5 0.0 0.0 0.0 -17.0

FORUMS8
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Sy

30.
284.
65.
-189.
-2.
-21.
-41.
68.

QOQOoUIFRr OO0 MU

-12.
-116.
-182.

183.

17.
48.
-37.

. .
CQOWFrRroOUINNOO

[olololololoNoNole]
[eololofololo}oNoe]
[eolololololoNoNoNo]
[olololololololeNe]
[elololololoNoNo o]
[olololololololeNe]

-27.
-258.
-84.
323.

80.
101.
-75.

EaN
OO0 UITORORL N

191.7
95.7

-129.0
-43.3

o)
oo
oo
oo

-46.3
168.3

(2) X =0.850
D
L1
L1
L1
(st.)
(Non St.)
L1
L1
L1
(st.)
(Non St.)
L1
On
L1 On

On
On

FORUMS8
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u.
S.
F.
Per. :
Var. :
Syp sz
Limit State 1 u. 95.7 -43.3 0.0 0.0 0.0 168.3
S. | Per. 191.7 -129.0 0.0 0.0 0.0 -46.3
Var. 30.5 -12.5 0.0 0.0 0.0 -27.7
F. | Per. 191.7 -129.0 0.0 0.0 0.0 -46.3
Var. 30.5 -12.5 0.0 0.0 0.0 =27.7
2.4.6 15
(1) X = 0.000
1)
N*® Syn Sm Myp MZD
30.5 -12.5 0.0 0.0 0.0 22.7
284.4 -116.9 0.0 0.0 0.0 211.8
65.8 197.0 0.0 0.0 0.0 -53.2
-189.0 183.2 0.0 0.0 0.0 -412.9
L1 -0.3 -3.8 0.0 0.0 0.0 -2.1
L1 17.2 19.7 0.0 0.0 0.0 -82.8
L1 53.1 84.3 0.0 0.0 0.0 -112.1
(st.) 117.2 -37.9 0.0 0.0 0.0 77.2
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 - -- -
L1 - - -—
L1 -—- - -—
(st.) _— - -—
(Non St.) -— - -—
N*® Sp S» Myo M-
191.7 250.7 0.0 0.0 -231.6
L1 231.1 363.4 0.0 0.0 -451.3

FORUMS8
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on On -— -—
L1 on On -— -—
u.
S
Per. :
Var. :
Sy Mz,
Limit State 1 u. 231.1 363.4 0.0 0.0 0.0 -451.3
S. | Per. 191.7 250.7 0.0 0.0 0.0 -231.6
Var. 30.5 -12.5 0.0 0.0 0.0 22.7
F. | Per. 191.7 250.7 0.0 0.0 0.0 -231.6
Var. 30.5 -12.5 0.0 0.0 0.0 22.7
(2) X = 3.170
1)
N® Sy Ss Mz,
30.5 -12.5 0.0 0.0 0.0 -17.0
284.4 -116.9 0.0 0.0 0.0 -158.7
65.8 -117.2 0.0 0.0 0.0 44.1
-189.0 183.2 0.0 0.0 0.0 167.7
L1 -1.9 5.5 0.0 0.0 0.0 -0.6
L1 -15.3 39.0 0.0 0.0 0.0 55.1
L1 -20.8 44.0 0.0 0.0 0.0 62.6
(St.) 78.4 -37.9 0.0 0.0 0.0 -42.9
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -— - -—-
L1 -—- -~ -—-
L1 — - —
(st.) -— - -—
(Non St.) -— - -—
N*® Sy S» M-
191.7 -63.5 0.0 0.0 36.0
L1 123.2 37.6 0.0 0.0 170.2

FORUMS8
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on On -— -— -
L1 on On -— -— -
u.
S
Per. :
Var. :
N* Sy Sz T My Mz,
Limit State 1 u. 123.2 37.6 0.0 0.0 0.0 170.2
S. | Per. 191.7 -63.5 0.0 0.0 0.0 36.0
Var. 30.5 -12.5 0.0 0.0 0.0 -17.0
F. | Per. 191.7 -63.5 0.0 0.0 0.0 36.0
Var. 30.5 -12.5 0.0 0.0 0.0 -17.0
2.4.7 18
(1) X = 0.000
1)
N® S, S, M, M.,
30.5 12.5 0.0 0.0 0.0 17.0
284.4 116.9 0.0 0.0 0.0 158.7
65.8 117.2 0.0 0.0 0.0 -44.1
-189.0 -183.2 0.0 0.0 0.0 -167.7
L1 1.9 5.5 0.0 0.0 0.0 -0.6
L1 15.3 39.0 0.0 0.0 0.0 55.1
L1 20.8 44.0 0.0 0.0 0.0 62.6
(st.) 78.4 37.9 0.0 0.0 0.0 42.9
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 — - - —
L1 - - - -
L1 -— - -—- -—
(st.) -— -- -— -—
(Non St.) -— - -— -—

FORUMS8
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N*® Sy M-
191.7 63.5 0.0 0.0 -36.0
L1 199.1 139.4 0.0 0.0 64.2
On on -— -
L1 On On - -
u.
S.
F.
Per. :
Var. :
N* Sy Mz
Limit State 1 u. 199.1 139.4 0.0 0.0 0.0 64.2
S. | Per. 191.7 63.5 0.0 0.0 0.0 -36.0
Var. 30.5 12.5 0.0 0.0 0.0 17.0
F. | Per. 191.7 63.5 0.0 0.0 0.0 -36.0
Var. 30.5 12.5 0.0 0.0 0.0 17.0
(2) X = 0.850
1)
N® S, M.,
30.5 12.5 0.0 0.0 0.0 27.7
284.4 116.9 0.0 0.0 0.0 258.1
65.8 182.7 0.0 0.0 0.0 84.0
-189.0 -183.2 0.0 0.0 0.0 -323.4
L1 2.1 7.5 0.0 0.0 0.0 4.9
L1 21.5 17.6 0.0 0.0 0.0 80.5
L1 41.8 48.1 0.0 0.0 0.0 101.6
(st.) 68.0 37.9 0.0 0.0 0.0 75.0
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0
L1 -— - -
L1 - - -
L1 -—- -—- -—-
(st.) -— -— -—
(Non St.) -— -— -—

FORUMS8
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2.4.8

N*® Sy S» Mye M-
191.7 129.0 0.0 0.0 0.0 46.3
L1 226.6 189.6 0.0 0.0 0.0 205.7
On on -— -— -
L1 On On - -— -
u.
S.
F.
Per. :
Var. :
N* Sy S T My» Mz
Limit State 1 u. 226.6 189.6 0.0 0.0 0.0 205.7
S. | Per. 191.7 129.0 0.0 0.0 0.0 46.3
Var. 30.5 12.5 0.0 0.0 0.0 27.7
F. | Per. 191.7 129.0 0.0 0.0 0.0 46.3
Var. 30.5 12.5 0.0 0.0 0.0 27.7
19
(1) X = 0.000
1)
N - Syp Szn Myn MZD
30.5 12.5 0.0 0.0 0.0 -22.7
284.4 116.9 0.0 0.0 0.0 -211.8
65.8 -197.0 0.0 0.0 0.0 53.2
-189.0 -183.2 0.0 0.0 0.0 412.9
L1 0.3 -3.8 0.0 0.0 0.0 -2.1
L1 -17.2 19.7 0.0 0.0 0.0 -82.8
L1 -53.1 84.3 0.0 0.0 0.0 -112.1
(St.) 117.2 37.9 0.0 0.0 0.0 -77.2
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0

FORUMS8
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L1 -—- -—- -—-
L1 -—- -—- -—-
L1 -— -— -—
(st.) -— -— -—
(Non St.) -— -— -—
N " Syp Myp MZP
191.7 -250.7 0.0 0.0 0. 231.6
L1 91.2 -163.1 0.0 0.0 0. 57.3
On on -— -
L1 On On -—= -
u.
S.
F.
Per. :
Var. :
N* Sy Mzp
Limit State 1 u. 91.2 -163.1 0.0 0.0 0.0 57.3
S. | Per. 191.7 -250.7 0.0 0.0 0.0 231.6
Var. 30.5 12.5 0.0 0.0 0.0 -22.7
F. | Per. 191.7 -250.7 0.0 0.0 0.0 231.6
Var. 30.5 12.5 0.0 0.0 0.0 -22.7
(2) X = 3.170
1)
N " Syn Myp MZD
30.5 12.5 0.0 0.0 0.0 17.0
284.4 116.9 0.0 0.0 0.0 158.7
65.8 117.2 0.0 0.0 0.0 -44.1
-189.0 -183.2 0.0 0.0 0.0 -167.7
L1 1.9 5.5 0.0 0.0 0.0 -0.6
L1 15.3 39.0 0.0 0.0 0.0 55.1
L1 20.8 44.0 0.0 0.0 0.0 62.6
(st.) 78.4 37.9 0.0 0.0 0.0 42.9
(Non St.) 0.0 0.0 0.0 0.0 0.0 0.0

FORUMS8
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L1
L1
L1

(st.)
(Non St.)

N®

Sa

Mz

L1

191.7
199.1

63.
139.

[N e]
[eNe]

[eNe]
[eNe]

-36.0
64.2

L1

On
On

On
On

Per. :
Var. :

Limit State 1

199.1

139.4

64.2

Per.
Var.

191.7
30.5

63.5
12.5

-36.0
17.0

Per.
Var.

191.7
30.5

63.5
12.5

oo oo o
[N oo o

oo [eoNe) o
oo oo o

oo oo o
oo oo o

-36.0
17.0

2.4.9

22

(1) X = 0.000

D

S

27.2

0.0

0.0

0.0

0.0

0.0

FORUMS8
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Mz,

OO0 oO0wW—HWO
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88

M.,

o<
[eX{e)

MYP
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oo
oo

olojojojloleNo)

[olojojolololo}e)

oo
o))

Sy

OO0 O0OOOOO

[ojojojololeNe)]

SYD

OCOOHALOWOO

oo Y0
LO N~

oo
o))

N"

om
[N )

N"

(st.)
(Non St.)

L1
L1
L1

527.5
500.2

(st.)
(Non St.)

L1
L1
L1

L1

On
On

< | oo | oo
© | oo | oo
™
|
=
o|oco | oo
o | oco | oo
=
o | oco | oo
o | oo | oo
o | oco | oo
o | oo | oo
m | oo | oo
o | oo | oo
™
—
N | LN | 1N
o |~~~ | I~
S| NN | NN
o | o Lo
[ R
OE | O
a> | a>
S|l w W

Limit State 1

L1
Per. :
Var. :

FORUMS8
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Mz,

Mz

MYP

oo
oo

MYP

[eolojololololo}ole]

oo
oo

Sy

OO0 O0OOOOOOoO

oo
[e}e)

S

SVD

oo
(o))

SYP

N"

o-
o~

127.

N"

D

(2) X = 3.620

(st.)
(Non St.)

L1
L1
L1

527.5
500.2

(st.)
(Non St.)

L1
L1
L1

L1

FORUMS8

On
On

On
On

L1
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u.
S.
F.
Per. :
Var. :
N* Sy S Myp Mz
Limit State 1 u. 500.2 127.1 0.0 0.0 0.0 230.0
S. | Per. 527.5 0.0 0.0 0.0 0.0 0.0
Var. 27.2 0.0 0.0 0.0 0.0 0.0
F. | Per. 527.5 0.0 0.0 0.0 0.0 0.0
Var. 27.2 0.0 0.0 0.0 0.0 0.0

FORUMS8
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2.5
2.5.1

1.000

.000
.000
.000
.000

e

L1

1.000 | L1
L1
L1

.000
.000
.000
.000
.000
.000

RPRRERE e

2.5.2

Limit State 1

L1

K1

K2

Limit State 1

1.000

1.000

1.000

1.000

0.500

0.500

FORUMS8
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FORUMS8
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3.1
3.1.1
o

@

[ 0K ]

[ NG

[ OK]

[ NG

[ 0K ]

9/9 ]

4/9 1

FORUMS8
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3.1.2
@ [ oK1
g'c
o
o's
1 2 [0K]
. (N/mm%) a. (N/mm?) a". (N/mm?)
X = 0.000
0.89 < 8.00 OK 5.74 < 180.00 OK 10.80 < 180.00 OK
L1 3.38 < 12.00 OK 72.36 < 270.00 OK 33.90 < 270.00 OK
X = 3.700
4.36 < 8.00 OK 90.47 < 180.00 OK 44 .11 < 180.00 OK
L1 7.30 < 12.00 OK 159.73 < 270.00 OK 72.79 < 270.00 OK
2) 5 [OK]
a". (N/mm*) o. (N/mm?) ", (N/mm*)
X = 0.000
4.36 < 8.00 OK 90.47 < 180.00 OK 44 .11 < 180.00 OK
L1 1.69 < 12.00 OK 31.27 < 270.00 OK 17.62 < 270.00 OK
X = 3.700
0.89 < 8.00 OK 5.74 < 180.00 OK 10.80 < 180.00 OK
L1 4.15 < 12.00 OK 81.60 < 270.00 OK 42.59 < 270.00 OK
3) 8 [OK]
. (N/mm*) a. (N/mm?) a". (N/mm?)
X = 0.000
4.41 < 8.00 OK 73.74 < 180.00 OK 47.12 < 180.00 OK
L1 8.97 < 12.00 OK 178.35 < 270.00 OK 91.92 < 270.00 OK
X = 3.600
1.69 < 8.00 OK 9.88 < 180.00 OK 20.56 < 180.00 OK
L1 2.25 < 12.00 OK 25.78 < 270.00 OK 25.66 < 270.00 OK
4) 11 [OK]
a”. (N/mm%) a. (N/mm?) a". (N/mm?)
X = 0.000
1.69 < 8.00 OK 9.88 < 180.00 OK 20.56 < 180.00 OK
L1 4.06 < 12.00 OK 57.82 < 270.00 OK 44 .67 < 270.00 OK
X = 3.600
4.41 < 8.00 OK 73.74 < 180.00 OK 47.12 < 180.00 OK
L1 0.77 < 9.75 OK 0.00 < 270.00 OK 10.28 < 270.00 OK
5) 14 [0K]
. (N/mm%) a. (N/mm?) c". (N/mm?)
X = 0.000

FORUMS8




- 43 -

. (N/mm*) o. (N/mm*) c" (N/mm?)
0.91 < 8.00 OK 4.01 < 180.00 OK 11.23 < 180.00 OK
L1 3.57 < 12.00 OK 75.33 < 270.00 OK 35.92 < 270.00 OK
X = 0.850
1.12 < 8.00 OK 8.31 < 180.00 OK 13.42 < 180.00 OK
L1 3.49 < 12.00 OK 76.80 < 270.00 OK 34.78 < 270.00 OK
6) 15 [OK]
. (N/mm%) o. (N/mm?) c". (N/mm?)
X = 0.000
4.88 < 8.00 OK 100.39 < 180.00 OK 49.55 < 180.00 OK
L1 9.33 < 12.00 OK 208.19 < 270.00 OK 92.52 < 270.00 OK
X = 3.170
0.91 < 8.00 OK 4.01 < 180.00 OK 11.23 < 180.00 OK
L1 3.57 < 12.00 OK 75.33 < 270.00 OK 35.92 < 270.00 OK
7 18 [OK]
. (N/mm%) o. (N/mm?) . (N/mm?)
X = 0.000
0.91 < 8.00 OK 4.01 < 180.00 OK 11.23 < 180.00 OK
L1 1.50 < 12.00 OK 16.00 < 270.00 OK 17.25 < 270.00 OK
X = 0.850
1.12 < 8.00 OK 8.31 < 180.00 OK 13.42 < 180.00 OK
L1 4.40 < 12.00 OK 84.23 < 270.00 0K 45.53 < 270.00 OK
8) 19 [OK]
. (N\/mm*) o. (N/mm*) o". (N/mm?)
X = 0.000
4.88 < 8.00 OK 100.39 < 180.00 OK 49.55 < 180.00 OK
L1 1.26 < 12.00 OK 21.10 < 270.00 OK 13.42 < 270.00 OK
X = 3.170
0.91 < 8.00 OK 4.01 < 180.00 OK 11.23 < 180.00 OK
L1 1.50 < 12.00 OK 16.00 < 270.00 OK 17.25 < 270.00 OK
9 22 [0K]
. (N/mm*) a. (N/mm*) c" (N/mm?)
X = 0.000
1.43 < 6.50 0K 0.00 < 180.00 OK 21.43 < 180.00 OK
L1 8.02 < 12.00 OK 96.30 < 270.00 OK 96.19 < 270.00 OK
X = 3.620
1.43 < 6.50 0K 0.00 < 180.00 OK 21.43 < 180.00 OK
L1 7.83 < 12.00 OK 92.37 < 270.00 OK 94.16 < 270.00 OK

FORUMS8
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@) [ NG 9/9 ]
os
ol
10
1 2 [NG]
1. (N/mm*) o (N/mm?) o. (N/mm?) To (N/mm?)
X = 0.000
0.32 < 0.39 0K(yp) 0.55 < 0.80 OK 0.00 < 180.00 OK(zp) | 0.26 < 1.60 OK(yp)
L1 0.07 < 0.59 OK(yp) 3.67 > 0.80 NG 0.00 < 270.00 OK(zp) .06 < 2.40 OK(yp)
X = 3.700
0.53 > 0.39 NG(yp) 4.65 > 0.80 NG | 17.26 < 180.00 OK(yp) | 0.42 < 1.60 OK(yp)
L1 0.70 > 0.59 NG(yp) 8.02 > 0.80 NG | 44.25 < 270.00 OK(yp) .56 < 2.40 OK(yp)
2) 5 [NG]
T. (N/mm*) o (N/mm?) o. (N/mm%) To (N/mm?)
X = 0.000
0.53 > 0.39 NG(yp) 4.65 > 0.80 NG | 17.26 < 180.00 OK(yp) | 0.42 < 1.60 OK(yp)
L1 0.31 < 0.59 OK(yp) | 1.69 > 0.80 NG | 0.00 < 270.00 OK(zp) | 0.25 < 2.40 OK(yp)
X = 3.700
0.32 < 0.39 OK(yp) | 0.55 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.26 < 1.60 OK(yp)
L1 0.45 < 0.59 OK(yp) 4.29 > 0.80 NG 4.39 < 270.00 OK(yp) | 0.36 < 2.40 OK(yp)
3) 8 [NG]
T, (N/mm?) a (N/mm?) as (N/mm?) To (N/mm?)
X = 0.000
0.67 > 0.39 NG(yp) 4.18 > 0.80 NG | 34.17 < 180.00 OK(yp) .53 < 1.60 OK(yp)
L1 0.91 > 0.59 NG(yp) 9.33 > 0.80 NG | 73.71 < 270.00 OK(yp) .73 < 2.40 OK(yp)
X = 3.600
0.50 > 0.39 NG(yp) 1.00 > 0.80 NG 0.00 < 180.00 OK(zp) .40 < 1.60 OK(yp)
L1 0.25 < 0.59 OK(yp) | 1.77 > 0.80 NG | 0.00 < 270.00 OK(zp) | 0.20 < 2.40 OK(yp)
4) 11 [NG]
T, (N/mn) o (N/mm?) o, (N/mm?) To (N/mm?)
X = 0.000
0.50 > 0.39 NG(yp) 1.00 > 0.80 NG 0.00 < 180.00 OK(zp) .40 < 1.60 OK(yp)
L1 0.69 > 0.59 NG(yp) 3.54 > 0.80 NG | 34.09 < 270.00 OK(yp) | 0.55 < 2.40 OK(yp)
X = 3.600
0.67 > 0.39 NG(yp) 4.18 > 0.80 NG | 34.17 < 180.00 OK(yp) .53 < 1.60 OK(yp)
L1 0.49 < 0.59 OK(yp) 0.45 < 0.80 OK 0.00 < 270.00 OK(zp) | 0.39 < 2.40 OK(yp)
5) 14 [NG]
T (N/mm?) a (N/mm*) a. (N/mm*) To (N/mm?)
X = 0.000

FORUMS8
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T. (N/mm%) o (N/mm?) o. (N/mm?) To (N/mm?)
0.14 < 0.39 0K(yp) 0.48 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.12 < 1.60 OK(yp)
L1 0.09 < 0.59 OK(yp) 3.84 > 0.80 NG | 0.00 < 270.00 OK(zp) | 0.07 < 2.40 OK(yp)
X = 0.850
0.29 < 0.39 OK(yp) 0.73 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.23 < 1.60 OK(yp)
L1 0.10 < 0.59 OK(yp) 3.85 > 0.80 NG | 0.00 < 270.00 OK(zp) | 0.08 < 2.40 OK(yp)
6) 15 [NG]
T, (N/mm?) o (N/mm*) 0. (N/mm*) To (N/mm?)
X = 0.000
0.57 > 0.39 NG(yp) 5.18 > 0.80 NG | 23.02 < 180.00 OK(yp) | 0.46 < 1.60 OK(yp)
L1 0.83 > 0.59 NG(yp) | 10.37 > 0.80 NG | 63.11 < 270.00 OK(yp) | 0.66 < 2.40 OK(yp)
X = 3.170
0.14 < 0.39 0K(yp) 0.48 < 0.80 OK 0.00 < 180.00 OK(zp) | 0.12 < 1.60 OK(yp)
L1 0.09 < 0.59 0K(yp) 3.84 > 0.80 NG 0.00 < 270.00 OK(zp) | 0.07 < 2.40 OK(yp)
7 18 [NG]
T, (N/mm?) o (N/mm?) 0. (N/mm%) To (N/mm?)
X = 0.000
0.14 < 0.39 0K(yp) 0.48 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.12 < 1.60 OK(yp)
L1 0.32 < 0.59 OK(yp) | 1.14 > 0.80 NG |0.00 < 270.00 OK(zp) | 0.25 < 2.40 OK(yp)
X = 0.850
0.29 < 0.39 0K(yp) 0.73 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.23 < 1.60 OK(yp)
L1 0.43 < 0.59 OK(yp) | 4.48 > 0.80 NG |0.77 < 270.00 OK(yp) | 0.34 < 2.40 OK(yp)
8) 19 [NG]
. (N/mm%) o (N/mm?) o. (N/mm?) To (N/mm?)
X = 0.000
0.57 > 0.39 NG(yp) 5.18 > 0.80 NG | 23.02 < 180.00 OK(yp) | 0.46 < 1.60 OK(yp)
L1 0.37 < 0.59 OK(yp) | 1.19 > 0.80 NG | 0.00 < 270.00 OK(zp) | 0.30 < 2.40 OK(yp)
X = 3.170
0.14 < 0.39 OK(yp) | 0.48 < 0.80 OK | 0.00 < 180.00 OK(zp) | 0.12 < 1.60 OK(yp)
L1 0.32 < 0.59 OK(yp) 1.14 > 0.80 NG 0.00 < 270.00 OK(zp) .25 < 2.40 OK(yp)
9 22 [NG]
1. (N/mm*) o (N/mm?) o. (N/mm?) To (N/mm?)
X = 0.000
0.00 < 0-39 OK(yp) 0.00 < 0.80 OK 0.00 < 180.00 OK(zp) | 0.00 < 1.60 OK(yp)
L1 0.58 < 0.59 OK(yp) 9.34 > 0.80 NG | 18.11 < 270.00 OK(yp) .33 < 2.40 OK(yp)
X = 3.620
0.00 < 0-39 OK(yp) 0.00 < 0.80 OK 0.00 < 180.00 OK(zp) | 0.00 < 1.60 OK(yp)
L1 0.56 < 0.59 OK(yp) 9.04 > 0.80 NG | 15.67 < 270.00 OK(yp) .32 < 2.40 OK(yp)

FORUMS8
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3.1.3
@ [ 0K ]
1) 2 [0K]
yi -Md/Mud yi .Vd/Vyd yi _Mtd/Mtud
X = 0.000
Limit State 1 .341 < 1.000 OK .038 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.700
Limit State 1 .716 < 1.000 OK .358 < 1.000 OK(yp) .000 < 1.000 OK
2) 5 [OK]
yi -Md/Mud yi .vd/Vyd yi -Mtd/Mtud
X = 0.000
Limit State 1 .166 < 1.000 OK .158 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.700
Limit State 1 .399 < 1.000 OK .230 < 1.000 OK(yp) .000 < 1.000 OK
3) 8 [0K]
yi .Md/Mud yi .vd/Vyd yi .Mtd/Mtud
X = 0.000
Limit State 1 .808 < 1.000 OK .461 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.600
Limit State 1 .193 < 1.000 OK .129 < 1.000 OK(yp) .000 < 1.000 OK
4) 11 [OK]
yi .Md/Mud yi .vd/Vyd yi .Mtd/Mtud
X = 0.000
Limit State 1 .346 < 1.000 OK .345 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.600
Limit State 1 .047 < 1.000 OK .248 < 1.000 OK(yp) .000 < 1.000 OK
5) 14 [0K]
yi .Md/Mud yi .vd/Vyd yi .Mtd/Mtud
X = 0.000
Limit State 1 .357 < 1.000 OK .044 < 1.000 OK(yp) .000 < 1.000 OK
X = 0.850
Limit State 1 .356 < 1.000 OK .050 < 1.000 OK(yp) .000 < 1.000 OK
6) 15 [0OK]
yi -Md/Mud yi .Vd/Vyd yi _Mtd/Mtud
X = 0.000
Limit State 1 .913 < 1.000 OK .422 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.170
Limit State 1 .357 < 1.000 OK .044 < 1.000 OK(yp) .000 < 1.000 OK
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7 18 [OK]
yi -Md/Mud yi .vd/Vyd yi Mtd/Mtud
X = 0.000
Limit State 1 0.131 < 1.000 OK 0.161 < 1.000 OK(yp) .000 < 1.000 OK
X = 0.850
Limit State 1 0.417 < 1.000 OK 0.219 < 1.000 OK(yp) .000 < 1.000 OK
8) 19 [OK]
yi -Md/Mud yi .Vd/Vyd yi -Mtd/Mtud
X = 0.000
Limit State 1 0.122 < 1.000 OK 0.190 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.170
Limit State 1 0.131 < 1.000 OK 0.161 < 1.000 OK(yp) .000 < 1.000 OK
9 22 [OK]
yi .Md/Mud yi .vd/Vyd yi .Mtd/Mtud
X = 0.000
Limit State 1 0.529 < 1.000 OK 0.276 < 1.000 OK(yp) .000 < 1.000 OK
X = 3.620
Limit State 1 0.515 < 1.000 OK 0.270 < 1.000 OK(yp) .000 < 1.000 OK

FORUMS8



- 48 -

@) [ NG 4/9 ]
1 2 [NG]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 OK (bar) .484 < 0.700 OK(yp) .000 < 0.700 OK
X = 3.700
Limit State 1 < 0.2 0K (bar) .709 > 0.700 NG(yp) .000 < 0.700 OK
2) 5 [NG]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 OK (bar) .709 > 0.700 NG(yp) .000 < 0.700 OK
X = 3.700
Limit State 1 < 0.2 OK (bar) .484 < 0.700 OK(yp) .000 < 0.700 OK
3) 8 [NG]
wl, wa(mm) Vd/ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 0K (bar) .788 > 0.700 NG(yp) .000 < 0.700 OK
X = 3.600
Limit State 1 < 0.2 0K (bar) .658 < 0.700 OK(yp) .000 < 0.700 OK
4) 11 [NG]
wl, wa(mm) Vd/ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 OK (bar) .658 < 0.700 OK(yp) .000 < 0.700 OK
X = 3.600
Limit State 1 < 0.2 0K (bar) .788 > 0.700 NG(yp) .000 < 0.700 OK
5) 14 [0K]
wl, wa(mm) Vd/ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 OK (bar) .218 < 0.700 OK(yp) .000 < 0.700 OK
X = 0.850
Limit State 1 < 0.2 OK (bar) .406 < 0.700 OK(yp) .000 < 0.700 OK
6) 15 [OK]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 < 0.2 OK (bar) .684 < 0.700 OK(yp) .000 < 0.700 OK
X = 3.170
Limit State 1 < 0.2 0K (bar) .218 < 0.700 OK(yp) .000 < 0.700 OK
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7 18 [OK]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 0.0 < 0.2 OK (bar) 0.218 < 0.700 OK(yp) 0.000 < 0.700 OK
X = 0.850
Limit State 1 0.1 < 0.2 OK (bar) 0.406 < 0.700 OK(yp) 0.000 < 0.700 OK
8) 19 [OK]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 0.1 < 0.2 0K (bar) 0.684 < 0.700 OK(yp) 0.000 < 0.700 OK
X = 3.170
Limit State 1 0.0 < 0.2 OK (bar) 0.218 < 0.700 OK(yp) 0.000 < 0.700 OK
9 22 [OK]
wl, wa(mm) Vd/Ved Mtd/Mtud
X = 0.000
Limit State 1 0.0 < 0.2 OK (bar) 0.000 < 0.700 OK(yp) 0.000 < 0.700 OK
X = 3.620
Limit State 1 0.0 < 0.2 OK (bar) 0.000 < 0.700 OK(yp) 0.000 < 0.700 OK

FORUMS8
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® [ 0K ]
1 2 [0K]
yi.osrd/(fsrd/yb) yi.owrd/ (fwrd/yb)
X = 0.000
Limit State 1 0.045 < 1.000 OK .002 < 1.000 OK(yp)
X = 3.700
Limit State 1 -0.036 < 1.000 OK .007 < 1.000 OK(yp)
2) 5 [0K]
yi.osrd/(fsrd/yb) yi .owrd/ (fwrd/yb)
X = 0.000
Limit State 1 -0.036 < 1.000 OK .007 < 1.000 OK(yp)
X = 3.700
Limit State 1 0.045 < 1.000 OK .002 < 1.000 OK(yp)
3) 8 [0K]
yi.osrd/ (fsrd/yb) yi.owrd/(fwrd/yb)
X = 0.000
Limit State 1 -0.067 < 1.000 OK .011 < 1.000 OK(yp)
X = 3.600
Limit State 1 0.072 < 1.000 OK .007 < 1.000 OK(yp)
4) 11 [OK]
yi.osrd/ (fsrd/yb) yi.owrd/ (fwrd/yb)
X = 0.000
Limit State 1 0.072 < 1.000 OK .007 < 1.000 OK(yp)
X = 3.600
Limit State 1 -0.067 < 1.000 OK .011 < 1.000 OK(yp)
5) 14 [0K]
yi.osrd/(fsrd/yb) yi.owrd/ (fwrd/yb)
X = 0.000
Limit State 1 -0.021 < 1.000 OK .000 < 1.000 OK(yp)
X = 0.850
Limit State 1 0.060 < 1.000 OK .000 < 1.000 OK(yp)
6) 15 [OK]
yi.osrd/(fsrd/yb) yi.owrd/ (fwrd/yb)
X = 0.000
Limit State 1 -0.104 < 1.000 OK .007 < 1.000 OK(yp)
X = 3.170
Limit State 1 -0.021 < 1.000 OK .000 < 1.000 OK(yp)

FORUMS8
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7 18 [0K]

yi.osrd/ (fsrd/yb)

yi.owrd/(fwrd/yb)

X = 0.000

Limit State 1

.000 < 1.000 OK(yp)

X = 0.850

Limit State 1

0.060 < 1.000 OK

.000 < 1.000 OK(yp)

8) 19 [OK]

yi.osrd/ (fsrd/y)

yi .owrd/ (fwrd/yb)

X = 0.000

Limit State 1

-0.104 < 1.000 OK

.007 < 1.000 OK(yp)

X = 3.170

Limit State 1

.000 < 1.000 OK(yp)

9) 22 [0K]

yi.osrd/ (fsrd/yb)

yi.owrd/(fwrd/yb)

X = 0.000

Limit State 1

0.000 < 1.000 OK

.000 < 1.000 OK(yp)

X = 3.620

Limit State 1

0.000 < 1.000 OK

.000 < 1.000 OK(yp)

FORUMS8
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3.2
3.2.1
@
D
Mud  (kNm) Vyd (kN) Mtcd (kNm)
N ud (kN) Vwed(kN) yi*Mtd/Mtcd
N*oud(kN) yi*vd/Vyd Mtud
yi*Md/Mud yi*vd/Vwed Mtcud (kNm)
Mtcud
Mtcud®
2 (yp) (yp)
X = 3.700 564.0 -992.5 1233.7
Limit State 206.4 -1817.8 .000 < 0.2
: 8367.9 0.358 <= 1.0 -—
L1 0.716 0.196 <= 1.0 -—
5 (yp) (yp)
X = 3.700 561.7 -993.6 1227.8
Limit State 194.1 -1817.8 .000 < 0.2
: 8367.9 0.230 <= 1.0 —-—
L1 0.399 0.126 <= 1.0 -—-
8 (yp) (yp)
X = 0.000 601.4 -999.7 1323.8
Limit State 404.9 -1817.8 .000 < 0.2
: 8367.9 0.461 <= 1.0 -—-
L1 0.808 0.254 <=1.0 -—=
11 (yp) (yp)
X = 0.000 598.6 -1006.1 1317.3
Limit State 390.1 -1817.8 .000 < 0.2
: 8367.9 0.345 <= 1.0 -—
L1 0.346 0.191 <= 1.0 -—-
14 (yp) (yp)
X = 0.000 548.2 989.1 1193.9
Limit State 123.2 1817.8 .000 < 0.2
: 8367.9 0.044 <= 1.0 -—-
L1 0.357 0.024 <=1.0 -—=
15 (yp) (yp)
X = 0.000 568.7 991.1 1245.3
Limit State 231.1 1817.8 .000 < 0.2
: 8367.9 0.422 <= 1.0 -—-
L1 0.913 0.230 <= 1.0 -—
18 (yp) (yp)
X = 0.850 567.8 995.7 1243.1
Limit State 226.6 1817.8 .000 < 0.2
: 8367.9 0.219 <= 1.0 -—-
L1 0.417 0.120 <= 1.0 —-——
19 (yp) (yp)
X = 3.170 562.6 993.9 1230.2
Limit State 199.1 1817.8 .000 < 0.2
: 8367.9 0.161 <= 1.0 -—-
L1 0.131 0.088 <= 1.0 -—=
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Mud  (kNm) Vyd (kN) Mtcd (kNm)
N ud (kN) Vwed(kN) yi*Mtd/Mtcd
N*oud(kN) yi*vd/Vyd Mtud
yi*Md/Mud yi*vd/Vwed Mtcud (kNm)
Mtcud
Mtcud®
22 (yp) (yp)
X = 0.000 513.7 542.0 1563.4
Limit State 1 500.2 929.6 000 < 0.2
: 4820.0 0.276 <= 1.0 -—
L1 0.529 0.161 <= 1.0 -—
2)
( )Aase(N/mm?) Vd/ved Mtd/Mtud
( YAase(N/mm’) owpd (N/mm?) ow(N/mm?)
( ) wl/wa osp (N/mm?) osp(N/mm?)
( ) w2/wa
2 (yp) (zp)
X = 3.700 83.25 0.709 >= 0.7 .000 < 0.7
Limit State 1 88.19 24.35 295.00
: 0.870 120.00 120.00
0.908
5 yp) yp
X = 0.000 83.25 0.709 >= 0.7 .000 < 0.7
Limit State 1 88.19 24.35 315.66
: 0.870 120.00 120.00
0.908
8 (yp) (zp)
X = 0.000 61.47 0.788 >= 0.7 .000 < 0.7
Limit State 1 71.22 35.68 295.00
: 0.703 120.00 120.00
0.778
1 (yp) (yp)
X = 3.600 61.47 0.788 >= 0.7 .000 < 0.7
Limit State 1 71.22 35.68 322.57
: 0.703 120.00 120.00
0.778
14 (yp) (zp)
X = 0.850 17.97 0.406 < 0.7 .000 < 0.7
Limit State 1 7.69 0.00 295.00
: 0.369 120.00 120.00
0.290
15 p) yp)
X = 0.000 83.84 0.684 < 0.7 .000 < 0.7
Limit State 1 97.81 22.85 317.58
: 0.875 120.00 120.00
0.982
18 (yp) (yp)
X = 0.850 17.97 0.406 < 0.7 .000 < 0.7
Limit State 1 7.69 0.00 305.18
: 0.369 120.00 120.00
0.290
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( )Aase(N/mm?) vd/Ved Mtd/Mtud
( )Aase(N/mm’) owpd (N/mm®) ow(N/mm?)
( ) wl/wa asp (N/mm?) asp(N/mm?)
( ) w2/wa
19 (yp) (zp)
X = 0.000 83.84 0.684 < 0.7 0.000 < 0.7
Limit State 97.81 22.85 295.00
: 0.875 120.00 120.00
0.982
22 ) (zp)
X = 0.000 0.00 0.000 < 0.7 0.000 < 0.7
Limit State 0.00 0.00 295.00
: 0.231 120.00 120.00
0.231
3)
osrd(N/mm*) yi*Vrd/Vrcd
o"crd(N/mm*) ) owrd(N/mm®)
yi*asrd/(fsrd/yb) ( ) yi*owrd/(fwrd/yb)
) yi*c"crd/(f crd/yo)
2 yp)
X = 0.000 .88 0.590 <=1.0
Limit State .45 0.16
y 0.045 <= 1.0 0.002 <= 1.0
0.047 <= 1.0
5 (yp)
X = 3.700 .88 0.156 <= 1.0
Limit State .45 0.16
: 0.045 <= 1.0 0.002 <=1.0
0.047 <= 1.0
8 (yp)
X = 3.600 12.34 1.050 > 1.0
Limit State 0.60 0.59
: 0.072 <= 1.0 0.007 <= 1.0
0.066 <= 1.0
1 (yp)
X = 0.000 12.34 0.068 <= 1.0
Limit State 0.60 0.59
: 0.072 <= 1.0 0.007 <=1.0
0.066 <= 1.0
14 (zp)
X = 0.850 10.28 0.000 <= 1.0
Limit State 0.62 0.00
: 0.060 <= 1.0 0.000 <=1.0
0.067 <= 1.0
15 p)
X = 0.000 -13.97 0.000 <=1.0
Limit State -0.46 0.60
H -0.104 <= 1.0 0.007 <= 1.0
-0.064 <= 1.0
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osrd(N/mm?)
a"crd(N/mm*)
yi*osrd/(fsrd/yb)

) yi*a"crd/(f*crd/yb)

)

yi*Vrd/Vrcd
owrd(N/mm?)
) yi*owrd/(fwrd/yb)

18 (zp)
X = 0.850 10.28 0.000 <= 1.0
Limit State 1 0.62 0.00
: 0.060 <= 1.0 0.000 <= 1.0
0.067 <= 1.0
19 (yp
X = 0.000 -13.97 0.059 <= 1.0
Limit State 1 -0.46 0.60
: -0.104 <= 1.0 0.007 <= 1.0
-0.064 <= 1.0
22 (zp)
X = 0.000 0.00 0.000 <= 1.0
Limit State 1 0.00 0.00
: 0.000 <= 1.0 0.000 <= 1.0
0.000 <= 1.0

FORUMS8
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@
D

2 - X =0.000
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mn) 10278.4
, A(m?) 5.0000E-001 | A*(m?) 0.0000E+000
p
yu(m) 0.250 | yI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© ° ©° opo o 0 0 L, (m%) 1.0417E-002 | 1,,(m) 4.1667E-002
Wzu(m®) 0.042 | wWzI(m’) 0.042
H
4 Wyr(m) 0.083 | Wyl (m*) 0.083
o o ©o© o o o o o Ao(m) 2.000 | Ai(m) 0.000
J(m*) 2.7964E-002 | 6(°) 0
B ’ A"
Ao :
Ai :
IZ IZ I
Wzu = —, Wzl = —, Wyr = —, Wyl = —
yu vl zr zl
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(m) 0.1500
as(®) 90
(N/mn?) 440.00
(N/mm?) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(m) 0.1500
as(®) 90
(N/mn?) 440.00
(N/mm?) 295.00
L1
NCkN) Syp(kN) Szp(kN) T(kNm) Myp(kNm) Mzp(kNm)
-108.5 32.3 0.0 0.0 0.0 161.8
-12.5 25.6 0.0 0.0 0.0 -19.9
-163.8 141.1 0.0 0.0 0.0 -36.5
-12.5 25.6 0.0 0.0 0.0 -19.9
-163.8 141.1 0.0 0.0 0.0 -36.5
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Md (kNim) 161.8 Mud (kNm) 545.4
N"d(kN) 108.5 N"ud(kN) 108.5
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.341
vd(kN) 0.0 Ved(kN) 192.9
Md (kNm) 0.0 - Vyd(kN) 832.0
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 18.1 | yi*Vvd/Vvyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 32.3 Ved(kN) 238.3
Md (kNim) 161.8 - Vyd(kN) 988.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 9.0 | yi*Vvd/vyd 0.038
yi*vd/Vwed 0.020
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 161.8 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 32.3 Md Mtd( ) 0.435
Vd  Mtd( ) zp: 0.000
yp: 0.030
Md  Mtd( ) 2.285
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 36.5
«C ) Mrd(kNm) 19.9 | ocl( Y(N/mm?) 1.711
« ) Md (kNm) 56.4 | ac2( ) (N/mm?) 1.12
« ) N"pd(kN) 163.8 ( YW1 (mm) 0.0
¢ ) N"rd(kN) 12.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 176.3 wa(mm) 0.2
k 1.000 | W1/wa 0.332
k 1.000 | W2/wa 0.271
() Vpd(kn) 0.0 Yved(kN) 283.4
C ) vrdcky) 0.0 | Vd/vcd 0.000
C ) vd (kN 0.0 (  )ved(kn) 281.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) 141.1 Yved(kN) 344.2
( ) Vrd(kN) 25.6 | vd/Ved 0.484
C ) vd (k) 166.7 (  )ved(kn) 343.1
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mn) 120.00
( ) Mtpd (kNm) 0.0 Mtud(kNm) 2027.8
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1016.5
yp: 1205.4
Mtl (kNm) zp: 2019.9
yp: 1830.8
Mt2 (kNm) zp: 0.0
yp: 47.3
ow(N/mm*) zp: 295.00
yp: 306.30
( ) Mpd (kNm) 36.5 asrd(N/mm?) 7.88
¢ ) Mrd(kNm) 19.9 a"crd(N/m) 0.45
« ) Md (kNm) 56.4 Fsrd(N/mm*) 173.75
( ) N"pd(kN) 163.8 f*crd(N/mm*) 9.43
« ) N*rd(kN) 12.5 yb 1.000
( ) N"d (kN) 176.3 yi 1.000
N 2000000 0.045
0.047

FORUMS8
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( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 199.7

N 2000000 Vred (kN) 85.3

@zp) k2 0.500 (b ved (kN) 259.6
yi 1.000

0.000

( Vpd (kN) 141.1 0.590

( Vrd(kN) 25.6 (b Ved (kN) 242.6

N 2000000 Vred (kN) 43.4

(yp) k2 0.500 (b Ved (kN) 315.4
yi 1.000

0.002

FORUMS8



2)

a) Limit State 1

2 - X =3.700

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-206.4 -309.4 0.0 0.0 0.0 -351.4
-12.5 -10.7 0.0 0.0 0.0 7.7
-163.8 -233.4 0.0 0.0 0.0 -207.2
-12.5 -10.7 0.0 0.0 0.0 7.7
-163.8 -233.4 0.0 0.0 0.0 -207.2

FORUMS8




- 60 -

Md (kNim) 351.4 Mud (kNm) 564.0
N"d(kN) 206.4 N"ud(kN) 206.4
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.716
vd(kN) 0.0 Ved(kN) 202.7
Md (kNm) 0.0 - Vyd(kN) 841.8
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 34.4 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) -309.4 ved(kN) 242.7
Md (kNim) -351.4 - Vyd(kN) -992.5
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) -17.2 | yi*vd/vyd 0.358
yi*vd/Vwed 0.196
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 351.4 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 309.4 Md  Mtd( ) 0.810
Vd  Mtd( ) zp: 0.000
yp: 0.287
Md  Mtd( ) 2.660
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 207.2
«C ) Mrd(kNm) -7.7 | ocl( Y(N/mm?) 5.80
« ) Md (kNm) 199.5 | oc2( ) (N/mm?) 6.00
« ) N"pd(kN) 163.8 C  Hwi(mm) 0.1
¢ ) N"rd(kN) 12.5 ¢ Hw2(mm) 0.1
( ) N*d (kN) 176.3 wa(mm) 0.2
k 1.000 | W1/wa 0.870
k 1.000 | W2/wa 0.908
() Vpd(kn) 0.0 Yved(kN) 283.4
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 281.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) -233.4 Yved(kN) -344.2
C ) vrd(kn) -10.7 | Vd/vcd 0.709
C ) vd (k) -244.0 (  )ved(kn) 343.1
(yp) k 1.000 owpd (N/mm?) 24.35
k2 0.500 asp(N/mn) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2027.8
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1016.5
yp: 1205.4
Mtl (kNm) zp: 2019.9
yp: 2332.8
Mt2 (kNm) zp: 0.0
yp: -78.2
ow(N/mm*) zp: 295.00
yp: 281.52
( ) Mpd(kNm) 207.2 asrd(N/mm?) -4.94
( ) Mrd(kNm) -7.7 o crd(N/mm?) -0.15
« ) Md (kNm) 199.5 Fsrd(N/mm*) 138.94
( ) N"pd(kN) 163.8 f*crd(N/mm*) 7.47
« ) N*rd(kN) 12.5 yb 1.000
« ) N"d (kN) 176.3 yi 1.000
N 2000000 -0.036
-0.020

FORUMS8




- 61 -

( Vpd(kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 199.7

N 2000000 Vred (kN) 85.3

@p) k2 0.500 (b ved(kN) 259.6
yi 1.000

0.000

( Vpd (kN) -233.4 0.052

( Vrd(kN) -10.7 (b Ved (kN) 242.6

N 2000000 Vrcd(kN) -203.3

p) k2 0.500 (b ved(kN) 315.4
yi 1.000

0.007

FORUMS8



3)

a) Limit State 1

5 - X = 0.000

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
vyl zr z1
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-96.1 136.0 0.0 0.0 0.0 -78.4
-12.5 10.7 0.0 0.0 0.0 7.7
-163.8 233.4 0.0 0.0 0.0 -207.2
-12.5 10.7 0.0 0.0 0.0 7.7
-163.8 233.4 0.0 0.0 0.0 -207.2

FORUMS8




- 63 -

Md (kNim) 78.4 Mud (kNm) 543.1
N"d(kN) 96.1 N"ud(kN) 96.1
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.166
vd(kN) 0.0 Ved(kN) 191.7
Md (kNm) 0.0 - Vyd(kN) 830.7
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 16.0 | yi*Vvd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 136.0 Ved(kN) 237.5
Md (kNim) -78.4 - Vyd(kN) 987.3
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) -8.0 | yi*vd/vyd 0.158
yi*vd/Vwed 0.086
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 78.4 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 136.0 Md  Mtd( ) 0.260
Vd  Mtd( ) zp: 0.000
yp: 0.127
Md  Mtd( ) 2.109
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 207.2
«C ) Mrd(kNm) -7.7 | ocl( Y(N/mm?) 5.80
« ) Md (kNm) 199.5 | oc2( ) (N/mm?) 6.00
« ) N"pd(kN) 163.8 C  Hwi(mm) 0.1
¢ ) N"rd(kN) 12.5 ¢ Hw2(mm) 0.1
( ) N*d (kN) 176.3 wa(mm) 0.2
k 1.000 | W1/wa 0.870
k 1.000 | W2/wa 0.908
() Vpd(kn) 0.0 Yved(kN) 283.4
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 281.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) 233.4 Yved(kN) 344.2
C ) vrd(kn) 10.7 | Vd/ved 0.709
C ) vd (k) 244.0 (  )ved(kn) 343.1
(yp) k 1.000 owpd (N/mm?) 24.35
k2 0.500 asp(N/mn) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2027.8
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1016.5
yp: 1205.4
Mtl (kNm) zp: 2019.9
yp: 1707.1
Mt2 (kNm) zp: 0.0
yp: 78.2
ow(N/mm*) zp: 295.00
yp: 315.66
( ) Mpd(kNm) 207.2 asrd(N/mm?) -4.94
( ) Mrd(kNm) -7.7 o crd(N/mm?) -0.15
« ) Md (kNm) 199.5 Fsrd(N/mm*) 138.94
( ) N"pd(kN) 163.8 f*crd(N/mm*) 7.47
« ) N*rd(kN) 12.5 yb 1.000
« ) N"d (kN) 176.3 yi 1.000
N 2000000 -0.036
-0.020

FORUMS8




- 64 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 199.7

N 2000000 Vrcd(kN) 85.3

@zp) k2 0.500 (b ved (kN) 259.6
yi 1.000

0.000

( Vpd (kN) 233.4 2.705

( Vrd(kN) 10.7 (b Ved (kN) 2426

N 2000000 Vred (kN) 3.9

(yp) k2 0.500 (b Ved (kN) 315.4
yi 1.000

0.007

FORUMS8



- 65 -

4)

5 - X =3.700
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1. I, I I
Wzu = D, Wzl = D, Wyr = _jg’ Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-194.1 -198.7 0.0 0.0 0.0 -194.9
-12.5 -25.6 0.0 0.0 0.0 -19.9
-163.8 -141.1 0.0 0.0 0.0 -36.5
-12.5 -25.6 0.0 0.0 0.0 -19.9
-163.8 -141.1 0.0 0.0 0.0 -36.5

FORUMS8




- 66 -

Md (kNim) 194.9 Mud (kNm) 561.7
N"d(kN) 194.1 N"ud(kN) 194.1
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.399
vd(kN) 0.0 Ved(kN) 201.5
Md (kNm) 0.0 - Vyd(kN) 840.6
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 32.3 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) -198.7 ved(kN) 243.7
Md (kNim) -194.9 - Vyd(kN) -993.6
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) -16.2 | yi*vd/vyd 0.230
yi*vd/Vwed 0.126
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 194.9 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 198.7 Md Mtd( ) 0.493
Vd  Mtd( ) zp: 0.000
yp: 0.184
Md  Mtd( ) 1.920
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 36.5
«C ) Mrd(kNm) 19.9 | ocl( Y(N/mm?) 1.711
« ) Md (kNm) 56.4 | ac2( ) (N/mm?) 1.12
« ) N"pd(kN) 163.8 ( YW1 (mm) 0.0
¢ ) N"rd(kN) 12.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 176.3 wa(mm) 0.2
k 1.000 | W1/wa 0.332
k 1.000 | W2/wa 0.271
() Vpd(kn) 0.0 Yved(kN) 283.4
C ) vrdcky) 0.0 | Vd/vcd 0.000
C ) vd (kN 0.0 (  )ved(kn) 281.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) -141.1 Yved(kN) -344.2
( ) Vrd(kN) -25.6 | Vd/vcd 0.484
C ) vd (k) -166.7 (  )ved(kn) 343.1
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mn) 120.00
( ) Mtpd (kNm) 0.0 Mtud(kNm) 2027.8
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1016.5
yp: 1205.4
Mtl (kNm) zp: 2019.9
yp: 2209.0
Mt2 (kNm) zp: 0.0
yp: -47.3
ow(N/mm*) zp: 295.00
yp: 286.25
( ) Mpd (kNm) 36.5 asrd(N/mm?) 7.88
¢ ) Mrd(kNm) 19.9 a"crd(N/m) 0.45
« ) Md (kNm) 56.4 Fsrd(N/mm*) 173.75
( ) N"pd(kN) 163.8 f*crd(N/mm*) 9.43
« ) N*rd(kN) 12.5 yb 1.000
( ) N"d (kN) 176.3 yi 1.000
N 2000000 0.045
0.047

FORUMS8




- 67 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 199.7

N 2000000 Vrcd(kN) 85.3

@zp) k2 0.500 (b ved (kN) 259.6
yi 1.000

0.000

( Vpd (kN) -141.1 0.156

( Vrd(kN) -25.6 (b Ved (kN) 2426

N 2000000 Vred (kN) -163.9

(yp) k2 0.500 (b Ved (kN) 315.4
yi 1.000

0.002

FORUMS8



5) 8 - X = 0.000
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
vyl zr z1
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-404.9 -400.8 0.0 0.0 0.0 422.6
12.5 13.6 0.0 0.0 0.0 -22.1
-322.6 -294_4 0.0 0.0 0.0 201.0
12.5 13.6 0.0 0.0 0.0 -22.1
-322.6 -294_4 0.0 0.0 0.0 201.0

FORUMS8




- 69 -

Md (kNm) 422.6 Mud (kNm) 601.4
N"d(kN) 404.9 N"ud(kN) 404.9
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.808
vd(kN) 0.0 Ved(kN) 222.7
Md (kNm) 0.0 - Vyd(kN) 861.8
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 67.5 | yi*Vd/Vyd 0.000
yi*Vd/Vwed 0.000
Vd(kN) -400.8 Ved(kN) 249.8
Md (kNim) 422.6 - Vyd(kN) -999.7
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 33.7 | yi*vd/vyd 0.461
yi*vd/Vwed 0.254
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 422.6 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 400.8 Md  Mtd( ) 0.902
Vd  Mtd( ) zp: 0.000
yp: 0.369
Md  Mtd( ) 2.329
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 201.0
«C ) Mrd(kNm) -22.1 | ocl( Y(N/mm?) 5.33
« ) Md (kNm) 178.9 | oc2( ) (N/mm?) 5.97
« ) N"pd(kN) 322.6 ( YW1 (mm) 0.1
¢ ) N"rd(kN) -12.5 ¢ Hw2(mm) 0.1
( ) N*d (kN) 310.1 wa(mm) 0.2
k 1.000 | W1/wa 0.703
k 1.000 | W2/wa 0.778
() Vpd(kn) 0.0 Yved(kN) 302.4
C ) vrdcky) 0.0 | Vd/vcd 0.000
C ) vd (kN 0.0 (  )ved(kn) 304.2
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) -294.4 Yved(kN) -356.3
( ) Vrd(kN) 13.6 | Vd/ved 0.788
C ) vd (k) -280.8 (  )ved(kn) 357.5
(yp) k 1.000 owpd (N/mm?) 35.68
k2 0.500 asp(N/mn) 120.00
( ) Mtpd (kNm) 0.0 Mtud(kNm) 2110.3
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1039.2
yp: 1219.8
Ml (KNm) zp: 2117.9
yp: 2526.8
Mt2 (kNm) zp: 0.0
yp: -102.2
ow(N/mm*) zp: 295.00
yp: 278.88
« ) Mpd (KNm) 201.0 osrd(N/mn?) -9.76
( ) Mrd(kNm) -22.1 o crd(N/mm?) -0.48
« ) Md (kNm) 178.9 Fsrd(N/mm*) 146.06
( ) N"pd(kN) 322.6 f*crd(N/mm*) 7.48
« ) N*rd(kN) -12.5 yb 1.000
( ) N"d (kN) 310.1 yi 1.000
N 2000000 -0.067
-0.064

FORUMS8




- 70 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 213.2

N 2000000 Vred (kN) 91.1

@zp) k2 0.500 (b ved (kN) 277.1
yi 1.000

0.000

( Vpd (kN) -294.4 0.058

( Vrd(kN) 13.6 (b Ved (kN) 251.1

N 2000000 Vred (kN) 233.1

(yp) k2 0.500 (b Ved (kN) 326.5
yi 1.000

0.011

FORUMS8



6) 8 - X = 3.600
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-280.2 112.1 0.0 0.0 0.0 -97.1
12.5 13.6 0.0 0.0 0.0 26.9
-322.6 220.8 0.0 0.0 0.0 68.4
12.5 13.6 0.0 0.0 0.0 26.9
-322.6 220.8 0.0 0.0 0.0 68.4

FORUMS8




- 72 -

Md (kNim) 97.1 Mud (kNm) 577.9
N"d(kN) 280.2 N"ud(kN) 280.2
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.193
vd(kN) 0.0 Ved(kN) 210.2
Md (kNm) 0.0 - Vyd(kN) 849.2
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 46.7 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 112.1 ved(kN) 249.2
Md (kNim) -97.1 - Vyd(kN) 999.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) -23.3 | yi*Vd/vyd 0.129
yi*vd/Vwed 0.071
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 97.1 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 112.1 Md  Mtd( ) 0.287
Vd  Mtd( ) zp: 0.000
yp: 0.103
Md  Mtd( ) 1.714
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 68.4
«C ) Mrd(kNm) 26.9 | acl( Y(N/mm?) 2.90
« ) Md (kNm) 95.3 | ac2( ) (N/mm?) 2.11
« ) N"pd(kN) 322.6 C  Hwi(mm) 0.1
¢ ) N"rd(kN) -12.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 310.1 wa(mm) 0.2
k 1.000 | W1/wa 0.395
k 1.000 | W2/wa 0.300
() Vpd(kn) 0.0 Yved(kN) 302.4
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 304.2
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) 220.8 Yved(kN) 356.3
C ) vrdcky) 13.6 | Vd/vcd 0.658
¢ ) vd (kN) 234.4 (  )Ved(kN) 357.5
(yp) k 1.000 owpd (N/mm?) 18.61
k2 0.500 asp(N/mn) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2110.3
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1039.2
yp: 1219.8
Ml (KNm) zp: 2117.9
yp: 1811.2
Mt2 (kNm) zp: 0.0
yp: 76.7
ow(N/mm*) zp: 295.00
yp: 313.99
( ) Mpd (kNm) 68.4 asrd(N/mm?) 12.34
¢ ) Mrd(kNm) 26.9 a"crd(N/m) 0.60
« ) Md (kNm) 95.3 Fsrd(N/mm*) 172.16
( ) N"pd(kN) 322.6 f*crd(N/mm*) 9.03
« ) N*rd(kN) -12.5 yb 1.000
« ) N"d (kN) 310.1 yi 1.000
N 2000000 0.072
0.066

FORUMS8




- 73 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 213.2

N 2000000 Vred (kN) 91.1

@zp) k2 0.500 (b ved (kN) 277.1
yi 1.000

0.000

( Vpd (kN) 220.8 1.050

( Vrd(kN) 13.6 (b Ved (kN) 251.1

N 2000000 Vred (kN) 13.0

(yp) k2 0.500 (b Ved (kN) 326.5
yi 1.000

0.007

FORUMS8



- 74 -

7) 11 - X = 0.000
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1, I
Wzu = s WZl = D, Wyr = il = v
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-390.1 -302.2 0.0 0.0 0.0 180.1
12.5 -13.6 0.0 0.0 0.0 26.9
-322.6 -220.8 0.0 0.0 0.0 68.4
12.5 -13.6 0.0 0.0 0.0 26.9
-322.6 -220.8 0.0 0.0 0.0 68.4

FORUMS8



- 75 -

Md (kNm) 180.1 Mud (kNm) 598.6
N"d(kN) 390.1 N"ud(kN) 390.1
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.346
vd(kN) 0.0 Ved(kN) 221.2
Md (kNm) 0.0 - Vyd(kN) 860.3
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 65.0 | yi*Vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) -302.2 Ved(kN) 256.3
Md (kNim) 180.1 - Vyd(kN) -1006. 1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 32.5 | yi*Vvd/Vyd 0.345
yi*vd/Vwed 0.191
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 180.1 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 302.2 Md Mtd( ) 0.440
Vd  Mtd( ) zp: 0.000
yp: 0.275
Md  Mtd( ) 2.289
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 68.4
«C ) Mrd(kNm) 26.9 | acl( Y(N/mm?) 2.90
« ) Md (kNm) 95.3 | ac2( ) (N/mm?) 2.11
« ) N"pd(kN) 322.6 C  Hwi(mm) 0.1
¢ ) N"rd(kN) -12.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 310.1 wa(mm) 0.2
k 1.000 | W1/wa 0.395
k 1.000 | W2/wa 0.300
() Vpd(kn) 0.0 Yved(kN) 302.4
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 304.2
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) -220.8 Yved(kN) -356.3
( ) Vrd(kN) -13.6 | Vd/ved 0.658
¢ ) vd (kN) -234.4 (  )Ved(kN) 357.5
(yp) k 1.000 owpd (N/mm?) 18.61
k2 0.500 asp(N/mn) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2110.3
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1039.2
yp: 1219.8
Ml (KNm) zp: 2117.9
yp: 24245
Mt2 (kNm) zp: 0.0
yp: -76.7
ow(N/mm*) zp: 295.00
yp: 282.25
( ) Mpd (kNm) 68.4 asrd(N/mm?) 12.34
¢ ) Mrd(kNm) 26.9 a"crd(N/m) 0.60
« ) Md (kNm) 95.3 Fsrd(N/mm*) 172.16
( ) N"pd(kN) 322.6 f*crd(N/mm*) 9.03
« ) N*rd(kN) -12.5 yb 1.000
« ) N"d (kN) 310.1 yi 1.000
N 2000000 0.072
0.066

FORUMS8




- 76 -

( Vpd (kN) 0.0 0.000
( Vrd(kN) 0.0 (b Ved(kN) 213.2

N 2000000 Vred (kN) 91.1

@zp) k2 0.500 (b ved (kN) 277.1
yi 1.000

0.000

( Vpd (kN) -220.8 0.068

( Vrd(kN) -13.6 (b Ved (kN) 251.1

N 2000000 Vred (kN) -201.6

(yp) k2 0.500 (b Ved (kN) 326.5
yi 1.000

0.007

FORUMS8



- 77 -

8)

a) Limit State 1

11 - X = 3.600

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm®) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1. I, I I
Wzu = —, Wzl = —, Wyr = —, Wyl = —
yu vl Zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-265.4 215.4 0.0 0.0 0.0 23.5
12.5 -13.6 0.0 0.0 0.0 -22.1
-322.6 294 .4 0.0 0.0 0.0 201.0
12.5 -13.6 0.0 0.0 0.0 -22.1
-322.6 294 .4 0.0 0.0 0.0 201.0

FORUMS8



- 78 -

Md (kNim) 23.5 Mud (kNm) 575.1
N"d(kN) 265.4 N"ud(kN) 265.4
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.047
vd(kN) 0.0 Ved(kN) 208.7
Md (kNm) 0.0 - Vyd(kN) 847.7
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 44.2 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 215.4 ved(kN) 248.3
Md (kNim) 23.5 - Vyd(kN) 998.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 22.1 | yi*Vvd/vyd 0.248
yi*vd/Vwed 0.136
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 23.5 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 215.4 Md  Mtd( ) 0.141
Vd  Mtd( ) zp: 0.000
yp: 0.198
Md  Mtd( ) 1.991
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (KNm) 201.0
«C ) Mrd(kNm) -22.1 | ocl( Y(N/mm?) 5.33
« ) Md (kNm) 178.9 | oc2( ) (N/mm?) 5.97
« ) N"pd(kN) 322.6 ( YW1 (mm) 0.1
¢ ) N"rd(kN) -12.5 ¢ Hw2(mm) 0.1
( ) N*d (kN) 310.1 wa(mm) 0.2
k 1.000 | W1/wa 0.703
k 1.000 | W2/wa 0.778
() Vpd(kn) 0.0 Yved(kN) 302.4
C ) vrdcky) 0.0 | Vd/vcd 0.000
C ) vd (kN 0.0 (  )ved(kn) 304.2
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 294.4 Yved(kN) 356.3
( ) Vrd(kN) -13.6 | Vd/vcd 0.788
C ) vd (k) 280.8 (  )ved(kn) 357.5
(yp) k 1.000 owpd (N/mm?) 35.68
k2 0.500 asp(N/mn) 120.00
( ) Mtpd (kNm) 0.0 Mtud(kNm) 2110.3
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
( ) vtd (kNm) 0.0 Mtyd(kNm) 0.0
k 1.000 Vyd(kN) zp: 1039.2
yp: 1219.8
Ml (KNm) zp: 2117.9
yp: 1708.9
Mt2 (kNm) zp: 0.0
yp: 102.2
ow(N/mm*) zp: 295.00
yp: 322.57
« ) Mpd (KNm) 201.0 osrd(N/mn?) -9.76
( ) Mrd(kNm) -22.1 o crd(N/mm?) -0.48
« ) Md (kNm) 178.9 Fsrd(N/mm*) 146.06
( ) N"pd(kN) 322.6 f*crd(N/mm*) 7.48
« ) N*rd(kN) -12.5 yb 1.000
( ) N"d (kN) 310.1 yi 1.000
N 2000000 -0.067
-0.064

FORUMS8




- 79 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 213.2

N 2000000 Vred (kN) 91.1

@zp) k2 0.500 (b ved (kN) 277.1
yi 1.000

0.000

( Vpd (kN) 294.4 0.000

( Vrd(kN) -13.6 (b Ved (kN) 251.1

N 2000000 Vred (kN) 0.0

(yp) k2 0.500 (b Ved (kN) 326.5
yi 1.000

0.011

FORUMS8



- 80 -

9

a) Limit State 1

14 - X = 0.000

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-123.2 37.6 0.0 0.0 0.0 170.2
-30.5 -12.5 0.0 0.0 0.0 -17.0
-191.7 -63.5 0.0 0.0 0.0 36.0
-30.5 -12.5 0.0 0.0 0.0 -17.0
-191.7 -63.5 0.0 0.0 0.0 36.0

FORUMS8



- 81 -

Md (kNm) 170.2 Mud (kNm) 548.2
N"d(kN) 123.2 N"ud(kN) 123.2
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.357
vd(kN) 0.0 Ved(kN) 194.4
Md (kNm) 0.0 - Vyd(kN) 833.5
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 20.5 | yi*Vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 37.6 Ved(kN) 239.2
Md (kNim) 170.2 - Vyd(kN) 989.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 10.3 | yi*vd/vyd 0.044
yi*vd/Vwed 0.024
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 170.2 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 37.6 Md Mtd( ) 0.451
Vd  Mtd( ) zp: 0.000
yp: 0.035
Md  Mtd( ) 1.878
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (kNm) 36.0
«C ) Mrd(kNm) -17.0 | ocl( Y(N/mm?) 0.74
« ) Md (kNm) 19.0 | oc2( ) (N/mm?) 1.12
« ) N"pd(kN) 191.7 C  Hwi(mm) 0.0
¢ ) N"rd(kN) 30.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.259
() Vpd(kn) 0.0 Yved(kN) 289.9
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) -63.5 Yved(kN) -348.4
( ) Vrd(kN) -12.5 | Vd/Vcd 0.218
C ) vd (k) -76.0 (  )ved(kn) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mi’) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2056.5
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
C ) Mtd (knm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 2123.1
Mt2 (kNm) zp: 0.0
yp: -21.4
ow(N/mm*) zp: 295.00
yp: 290.81
« ) Mpd (KNm) 36.0 osrd(N/mm’) -3.68
C ) Mrd(kNm) -17.0 a"crd(N/m) -0.28
« ) Md (kNm) 19.0 Fsrd(N/mm*) 174.43
( ) N"pd(kN) 191.7 f*crd(N/mm*) 9.43
« ) N*rd(kN) 30.5 yb 1.000
« ) N"d (kN) 222.2 yi 1.000
N 2000000 -0.021
-0.030

FORUMS8




- 82 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vrcd(kN) 87.3

@zp) k2 0.500 (b ved (kN) 265.6
yi 1.000

0.000

( Vpd (kN) -63.5 0.095

( Vrd(kN) -12.5 (b Ved (kN) 245.5

N 2000000 Vred (kN) -132.0

(yp) k2 0.500 (b Ved (kN) 319.2
yi 1.000

0.000

FORUMS8



- 83 -

10)
a) Limit Stat

14 - X = 0.850

el

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-95.7 -43.3 0.0 0.0 0.0 168.3
-30.5 -12.5 0.0 0.0 0.0 -27.7
-191.7 -129.0 0.0 0.0 0.0 -46.3
-30.5 -12.5 0.0 0.0 0.0 -27.7
-191.7 -129.0 0.0 0.0 0.0 -46.3

FORUMS8



- 84 -

Md (kNm) 168.3 Mud (kNm) 543.0
N*d(kN) 95.7 N*ud(kN) 95.7
N*oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.356
Vd(kN) 0.0 Ved(kN) 191.6
Md (kNm) 0.0 - Vyd(kN) 830.7
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 16.0 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
Vd(kN) -43.3 Ved(kN) 237.5
Md (kNm) 168.3 - Vyd (kN) -987.3
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 yi 1.150
Mo(kNm) 8.0 | yi*vd/Vvyd 0.050
yi*vd/Vwed 0.027
Mtd (kNm) 0.0 yi 1.150
Md (kNm) 168.3 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 43.3 Md Mtd( ) 0.450
Vd  Mtd( ) zp: 0.000
yp: 0.040
Md  Mtd( ) 1.877
Vd  Mtd( ) zp: 0.000
yp: 0.000
( ) Mtd (kNm) 46.3
«C ) Mrd(kNm) 27.7 | acl( Y(N/mm?) 2.25
« ) Md (kNm) 74.0 | ac2( ) (N/mm?) 1.42
( ) N*pd(kN) 191.7 ( YW1(mm) 0.1
( ) N*rd(kN) 30.5 ( W2 (mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.369
k 1.000 | W2/wa 0.290
( ) Vpd(kN) 0.0 Yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
( ) vd (kN) 0.0 ( Yved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/m’) 120.00
( ) Vpd(kN) -129.0 Yved(kN) -348.4
( ) Vrd(kN) -12.5 | vd/Vcd 0.406
( ) vd (kN) -141.5 ( )Vved(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Mtud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 2211.5
Mt2 (kNm) zp: 0.0
yp: -43.5
ow(N/mm*) zp: 295.00
yp: 286.94
( ) Mpd (kNm) 46.3 asrd(N/mm?) 10.28
( ) Mrd(kNm) 27.7 o crd(N/mm?) 0.62
« ) Md (kNm) 74.0 Fsrd(N/mm*) 172.74
( ) N"pd(kN) 191.7 f*crd(N/mm*) 9.31
« ) N"rd(kN) 30.5 yb 1.000
( ) N*d (kN) 222.2 yi 1.000
N 2000000 0.060
0.067

FORUMS8




- 85 -

( Vpd(kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vred (kN) 87.3

@p) k2 0.500 (b ved(kN) 265.6
yi 1.000

0.000

( Vpd (kN) -129.0 0.078

( Vrd(kN) -12.5 (b Ved (kN) 245.5

N 2000000 Vrcd(kN) -160.0

p) k2 0.500 (b ved(kN) 319.2
yi 1.000

0.000

FORUMS8



- 86 -

11)
a) Limit Stat

15 - X = 0.000

el

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = =, Wyr = —, Wyl = —
yu vl Zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-231.1 363.4 0.0 0.0 0.0 -451.3
-30.5 -12.5 0.0 0.0 0.0 22.7
-191.7 250.7 0.0 0.0 0.0 -231.6
-30.5 -12.5 0.0 0.0 0.0 22.7
-191.7 250.7 0.0 0.0 0.0 -231.6

FORUMS8



- 87 -

Md (kNm) 451.3 Mud (KNm) 568.7
N*d(kN) 231.1 N*ud(kN) 231.1
N"oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.913
Vd(kN) 0.0 Ved(kN) 205.2
Md (kNm) 0.0 - Vyd(kN) 844.3
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 38.5 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 363.4 ved(kN) 241.2
Md (kNm) -451.3 - Vyd (kN) 991.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 yi 1.150
Mo (kNim) -19.3 | yi*Vvd/Vyd 0.422
yi*Vvd/Vwed 0.230
Mtd (kNm) 0.0 yi 1.150
Md (kNm) 451.3 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 363.4 Md  Mtd( ) 1.007
Vd  Mtd( ) zp: 0.000
yp: 0.337
Md  Mtd( ) 2.856
Vd  Mtd( ) zp: 0.000
yp: 0.000
«C ) Mtd (kNm) 231.6
«C ) Mrd(kNm) -22.7 | ocl( Y(N/mm?) 6.11
« ) Md (kNm) 208.9 | oc2( ) (N/mm?) 6.72
«C ) N*pd(kN) 191.7 ( YW1(mm) 0.1
«C ) N"rd(kN) 30.5 ( YW2(mm) 0.1
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.875
k 1.000 | W2/wa 0.982
( ) Vpd(kN) 0.0 Yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
(¢ ) vd (kN) 0.0 ( Yved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 250.7 Yved(kN) 348.4
( ) Vrd(kN) -12.5 | vd/Ved 0.684
(¢ ) vd kN) 238.2 ( YVed(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 22.85
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Mtud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 1699.1
Mt2 (kNm) zp: 0.0
yp: 84.6
ow(N/mm*) zp: 295.00
yp: 317.58
( ) Mpd(kNm) 231.6 asrd(N/mm?) -13.97
( ) Mrd(kNm) -22.7 o crd(N/mm?) -0.46
« ) Md (kNm) 208.9 Fsrd(N/mm*) 134.90
( ) N"pd(kN) 191.7 f*crd(N/mm*) 7.18
« ) N"rd(kN) 30.5 yb 1.000
( ) N*d (kN) 222.2 yi 1.000
N 2000000 -0.104
-0.064

FORUMS8




- 88 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vrcd(kN) 87.3

@zp) k2 0.500 (b ved (kN) 265.6
yi 1.000

0.000

( Vpd (kN) 250.7 0.000

( Vrd(kN) -12.5 (b Ved (kN) 245.5

N 2000000 Vred (kN) 0.0

(yp) k2 0.500 (b Ved (kN) 319.2
yi 1.000

0.007

FORUMS8



- 89 -

12)
a) Limit Stat

15 - X = 3.170

el

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-123.2 37.6 0.0 0.0 0.0 170.2
-30.5 -12.5 0.0 0.0 0.0 -17.0
-191.7 -63.5 0.0 0.0 0.0 36.0
-30.5 -12.5 0.0 0.0 0.0 -17.0
-191.7 -63.5 0.0 0.0 0.0 36.0

FORUMS8



- 90 -

Md (kNm) 170.2 Mud (kNm) 548.2
N"d(kN) 123.2 N"ud(kN) 123.2
N"oud(kN) 8367.9
vi 1.150
yi*Md/Mud 0.357
vd(kN) 0.0 Ved(kN) 194.4
Md (kNm) 0.0 - Vyd(kN) 833.5
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 vi 1.150
Mo (kNim) 20.5 | yi*Vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 37.6 Ved(kN) 239.2
Md (kNim) 170.2 - Vyd(kN) 989.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 vi 1.150
Mo(kNm) 10.3 | yi*vd/vyd 0.044
yi*vd/Vwed 0.024
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 170.2 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 37.6 Md Mtd( ) 0.451
Vd  Mtd( ) zp: 0.000
yp: 0.035
Md  Mtd( ) 2.301
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (kNm) 36.0
«C ) Mrd(kNm) -17.0 | ocl( Y(N/mm?) 0.74
« ) Md (kNm) 19.0 | oc2( ) (N/mm?) 1.12
« ) N"pd(kN) 191.7 C  Hwi(mm) 0.0
¢ ) N"rd(kN) 30.5 ¢ Hw2(mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.259
() Vpd(kn) 0.0 Yved(kN) 289.9
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) -63.5 Yved(kN) -348.4
( ) Vrd(kN) -12.5 | Vd/Vcd 0.218
C ) vd (k) -76.0 (  )ved(kn) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mi’) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2056.5
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
C ) Mtd (knm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 2123.1
Mt2 (kNm) zp: 0.0
yp: -21.4
ow(N/mm*) zp: 295.00
yp: 290.81
« ) Mpd (KNm) 36.0 osrd(N/mm’) -3.68
C ) Mrd(kNm) -17.0 a"crd(N/m) -0.28
« ) Md (kNm) 19.0 Fsrd(N/mm*) 174.43
( ) N"pd(kN) 191.7 f*crd(N/mm*) 9.43
« ) N*rd(kN) 30.5 yb 1.000
« ) N"d (kN) 222.2 yi 1.000
N 2000000 -0.021
-0.030

FORUMS8




- 901 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vrcd(kN) 87.3

@zp) k2 0.500 (b ved (kN) 265.6
yi 1.000

0.000

( Vpd (kN) -63.5 0.095

( Vrd(kN) -12.5 (b Ved (kN) 245.5

N 2000000 Vred (kN) -132.0

(yp) k2 0.500 (b Ved (kN) 319.2
yi 1.000

0.000

FORUMS8



- 92 -

13)
a) Limit Stat

18 - X = 0.000

el

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-199.1 139.4 0.0 0.0 0.0 64.2
-30.5 12.5 0.0 0.0 0.0 17.0
-191.7 63.5 0.0 0.0 0.0 -36.0
-30.5 12.5 0.0 0.0 0.0 17.0
-191.7 63.5 0.0 0.0 0.0 -36.0

FORUMS8



- 03 -

Md(kNm) 64.2 Mud (kNm) 562.6
N*d(kN) 199.1 N*ud(kN) 199.1
N*oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.131
Vd(kN) 0.0 Ved(kN) 202.0
Md (kNm) 0.0 - Vyd(kN) 841.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 33.2 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
Vd(kN) 139.4 Ved(kN) 244.1
Md (kNm) 64.2 - Vyd(kN) 993.9
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 yi 1.150
Mo(kNm) 16.6 | yi*vd/Vyd 0.161
yi*vd/Vwed 0.088
Mtd(kNm) 0.0 yi 1.150
Md(kNm) 64.2 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 139.4 Md  Mtd( ) 0.225
Vd  Mtd( ) zp: 0.000
yp: 0.129
Md Mtd( ) 2.075
Vd  Mtd( ) zp: 0.000
yp: 0.000
( ) Mtd (kNm) 36.0
«C ) Mrd(kNm) -17.0 | ocl( Y(N/mm?) 0.74
« ) Md (kNm) 19.0 | oc2( ) (N/mm?) 1.12
( ) N*pd(kN) 191.7 ( WL (mm) 0.0
( ) N*rd(kN) 30.5 ( W2 (mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.259
( ) Vpd(kN) 0.0 ( yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
( ) vd (kN) 0.0 ( Yved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 63.5 ( yved(kN) 348.4
( ) Vrd(kN) 12.5 | vd/Vcd 0.218
( ) vd (kN) 76.0 ( )Vved(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Meud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 1951.8
Mt2 (kNm) zp: 0.0
yp: 21.4
ow(N/mm*) zp: 295.00
yp: 299.70
( ) Vpd(kN) 0.0 0.000
( ) Vrd(kN) 0.0 (yb ) Ved(kN) 204.3
N 2000000 Vred(kN) 87.3
(zp) k2 0.500 (yb ) Ved(kN) 265.6
yi 1.000
0.000

FORUMS8




- 94 -

)

(
(

)
)

Vpd (kN)
VrdCkN)
N

k2

63.5
12.5
2000000
0.500

(b
(b

)

Ved(kN)
Vrcd(kN)

) Ved(kN)
yi

0.161
245.5

77.8
319.2
1.000
0.000

FORUMS8



- 05 -

14)

18 - X = 0.850
a) Limit State 1

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-226.6 189.6 0.0 0.0 0.0 205.7
-30.5 12.5 0.0 0.0 0.0 27.7
-191.7 129.0 0.0 0.0 0.0 46.3
-30.5 12.5 0.0 0.0 0.0 27.7
-191.7 129.0 0.0 0.0 0.0 46.3

FORUMS8



- 06 -

Md (kNm) 205.7 Mud (kNm) 567.8
N*d(kN) 226.6 N*ud(kN) 226.6
N*oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.417
Vd(kN) 0.0 Ved(kN) 204.8
Md (kNm) 0.0 - Vyd(kN) 843.8
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 37.8 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 189.6 Ved(kN) 245.8
Md (kNm) 205.7 - Vyd (kN) 995.7
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 yi 1.150
Mo (kNm) 18.9 | yi*Vd/vyd 0.219
yi*Vvd/Vwed 0.120
Mtd (kNm) 0.0 yi 1.150
Md (kNm) 205.7 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 189.6 Md  Mtd( ) 0.510
Vd  Mtd( ) zp: 0.000
yp: 0.175
Md  Mtd( ) 2.360
Vd  Mtd( ) zp: 0.000
yp: 0.000
( ) Mtd (kNm) 46.3
«C ) Mrd(kNm) 27.7 | acl( Y(N/mm?) 2.25
« ) Md (kNm) 74.0 | ac2( ) (N/mm?) 1.42
( ) N*pd(kN) 191.7 ( YW1(mm) 0.1
( ) N"rd(kN) 30.5 ( YW2(mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.369
k 1.000 | W2/wa 0.290
( ) Vpd(kN) 0.0 Yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
( ) vd (kN) 0.0 ( )ved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 129.0 Yved(kN) 348.4
( ) Vrd(kN) 12.5 | vd/Vcd 0.406
( ) vd (kN) 141.5 ( YVed(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Mtud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 1863.4
Mt2 (kNm) zp: 0.0
yp: 43.5
ow(N/mm*) zp: 295.00
yp: 305.18
( ) Mpd (kNm) 46.3 asrd(N/mm?) 10.28
( ) Mrd(kNm) 27.7 o crd(N/mm?) 0.62
« ) Md (kNm) 74.0 Fsrd(N/mm*) 172.74
( ) N"pd(kN) 191.7 f*crd(N/mm*) 9.31
« ) N"rd(kN) 30.5 yb 1.000
( ) N*d (kN) 222.2 yi 1.000
N 2000000 0.060
0.067

FORUMS8




- 97 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vred (kN) 87.3

@zp) k2 0.500 (b ved (kN) 265.6
yi 1.000

0.000

( Vpd (kN) 129.0 0.252

( Vrd(kN) 12.5 (b Ved (kN) 245.5

N 2000000 Vred (kN) 49.8

(yp) k2 0.500 (b Ved (kN) 319.2
yi 1.000

0.000

FORUMS8



- 08 -

15)
a) Limit State 1

19 - X = 0.000

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A" :
Ao :
Ai :
1. I, I I
Wzu = —, Wzl = —, Wyr = —, Wyl = —
yu vl Zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-91.2 -163.1 0.0 0.0 0.0 57.3
-30.5 12.5 0.0 0.0 0.0 -22.7
-191.7 -250.7 0.0 0.0 0.0 231.6
-30.5 12.5 0.0 0.0 0.0 -22.7
-191.7 -250.7 0.0 0.0 0.0 231.6

FORUMS8



- 99 -

Md (kNm) 57.3 Mud (kNm) 542.2
N*d(kN) 91.2 N*ud(kN) 91.2
N"oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.122
Vd(kN) 0.0 Ved(kN) 191.2
Md (kNm) 0.0 - Vyd(kN) 830.2
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 15.2 | yi*vd/Vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) -163.1 ved(kN) 237.2
Md (kNm) 57.3 - Vyd (kN) -987.0
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) -1817.8
d(m) 0.4400 yi 1.150
Mo (kNm) 7.6 | yi*Vvd/Vyd 0.190
yi*Vvd/Vwed 0.103
Mtd (kNm) 0.0 yi 1.150
Md (kNm) 57.3 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 163.1 Md  Mtd( ) 0.215
Vd  Mtd( ) zp: 0.000
yp: 0.152
Md  Mtd( ) 2.065
Vd  Mtd( ) zp: 0.000
yp: 0.000
«C ) Mtd (kNm) 231.6
«C ) Mrd(kNm) -22.7 | ocl( Y(N/mm?) 6.11
« ) Md (kNm) 208.9 | oc2( ) (N/mm?) 6.72
«C ) N*pd(kN) 191.7 ( YW1(mm) 0.1
«C ) N"rd(kN) 30.5 ( YW2(mm) 0.1
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.875
k 1.000 | W2/wa 0.982
( ) Vpd(kN) 0.0 Yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
(¢ ) vd (kN) 0.0 ( Yved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) -250.7 Yved(kN) -348.4
( ) Vrd(kN) 12.5 | vd/Vcd 0.684
(¢ ) vd kN) -238.2 ( YVed(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 22.85
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Mtud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 2375.8
Mt2 (kNm) zp: 0.0
yp: -84.6
ow(N/mm*) zp: 295.00
yp: 280.72
( ) Mpd(kNm) 231.6 asrd(N/mm?) -13.97
( ) Mrd(kNm) -22.7 o crd(N/mm?) -0.46
« ) Md (kNm) 208.9 Fsrd(N/mm*) 134.90
( ) N"pd(kN) 191.7 f*crd(N/mm*) 7.18
« ) N"rd(kN) 30.5 yb 1.000
( ) N*d (kN) 222.2 yi 1.000
N 2000000 -0.104
-0.064

FORUMS8




- 100 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 204.3

N 2000000 Vred (kN) 87.3

@zp) k2 0.500 (b ved (kN) 265.6
yi 1.000

0.000

( Vpd (kN) -250.7 0.059

( Vrd(kN) 12.5 (b Ved (kN) 245.5

N 2000000 Vred (kN) 212.0

(yp) k2 0.500 (b Ved (kN) 319.2
yi 1.000

0.007

FORUMS8



- 101 -

16)
a) Limit Stat

19 - X = 3.170

el

Limit State 1

B (m) 1.000
H (m) 0.500
(SD295) D29*16 10278.4
(mm*) 10278.4
y A(m®) 5.0000E-001 | A®(m*) 0.0000E+000
p
yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.500 | zI(m) 0.500
© o o oo ©o o o© L(m*) 1.0417E-002 | I,,(m) 4.1667E-002
Wzu(m®) 0.042 | wzI(m) 0.042
H
Zp Wyr(m®) 0.083 | Wyl (m*) 0.083
o o o o o o 0o O Ao(m) 2.000 | Ai(m) 0.000
J(@m) 2.7964E-002 | B(°) 0
B A"
Ao :
Ai :
1, I
Wzu = , Wzl = D, Wyr = — Wyl = —
yu yl zr Al
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.7500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 1.0000 Aw(mm?) 1146.0
h (m) 0.4400 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-199.1 139.4 0.0 0.0 0.0 64.2
-30.5 12.5 0.0 0.0 0.0 17.0
-191.7 63.5 0.0 0.0 0.0 -36.0
-30.5 12.5 0.0 0.0 0.0 17.0
-191.7 63.5 0.0 0.0 0.0 -36.0

FORUMS8



- 102 -

Md(kNm) 64.2 Mud (kNm) 562.6
N*d(kN) 199.1 N*ud(kN) 199.1
N*oud(kN) 8367.9
yi 1.150
yi*Md/Mud 0.131
Vd(kN) 0.0 Ved(kN) 202.0
Md (kNm) 0.0 - Vyd(kN) 841.1
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 1549.3
d(m) 0.7500 yi 1.150
Mo(kNm) 33.2 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
Vd(kN) 139.4 Ved(kN) 244.1
Md (kNm) 64.2 - Vyd(kN) 993.9
As(mm?) 5139.2 | fwcd (N/mm?) 5.37
(yp) bw(m) 1.0000 | Vwed kN) 1817.8
d(m) 0.4400 yi 1.150
Mo(kNm) 16.6 | yi*vd/Vyd 0.161
yi*vd/Vwed 0.088
Mtd(kNm) 0.0 yi 1.150
Md(kNm) 64.2 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 139.4 Md  Mtd( ) 0.225
Vd  Mtd( ) zp: 0.000
yp: 0.129
Md Mtd( ) 1.652
Vd  Mtd( ) zp: 0.000
yp: 0.000
( ) Mtd (kNm) 36.0
«C ) Mrd(kNm) -17.0 | ocl( Y(N/mm?) 0.74
« ) Md (kNm) 19.0 | oc2( ) (N/mm?) 1.12
( ) N*pd(kN) 191.7 ( WL (mm) 0.0
( ) N*rd(kN) 30.5 ( W2 (mm) 0.0
( ) N*d (kN) 222.2 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.259
( ) Vpd(kN) 0.0 ( yved(kN) 289.9
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
( ) vd (kN) 0.0 ( Yved(kN) 285.6
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 63.5 ( yved(kN) 348.4
( ) Vrd(kN) 12.5 | vd/Vcd 0.218
( ) vd (kN) 76.0 ( )Vved(kN) 345.6
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Meud (kNm) 2056.5
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 1020.5
yp: 1207.9
Mtl (kNm) zp: 2037.5
yp: 1951.8
Mt2 (kNm) zp: 0.0
yp: 21.4
ow(N/mm*) zp: 295.00
yp: 299.70
( ) Vpd(kN) 0.0 0.000
( ) Vrd(kN) 0.0 (yb ) Ved(kN) 204.3
N 2000000 Vred(kN) 87.3
(zp) k2 0.500 (yb ) Ved(kN) 265.6
yi 1.000
0.000

FORUMS8




- 103 -

)

(
(

)
)

Vpd (kN)
VrdCkN)
N

k2

63.5
12.5
2000000
0.500

(b
(b

)

Ved(kN)
Vrcd(kN)

) Ved(kN)
yi

0.161
245.5

77.8
319.2
1.000
0.000

FORUMS8



- 104 -

17) 22 - X = 0.000
a) Limit State 1

Limit State 1

B (m) 0.500
H (m) 0.500
(SD295) D32*10 7942.0
(mm*) 7942.0
A(m®) 2.5000E-001 | A®(m*) 0.0000E+000
Yp
O O O O yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.250 | zI(m) 0.250
L(m*) 5.2083E-003 | 1,(n") 5.2083E-003
Wzu(m®) 0.021 | wzI(m) 0.021
H
Zp Wyr(m®) 0.021 | Wyl(m®) 0.021
Ao(m) 1.500 | Ai(m) 0.000
J(@m) 8.6352E-003 | B(°) 0
O O O O O -
Ao :
0 ’ " I I I I
Wzu = —, Wzl = —, Wyr = —, Wyl = —
yu vyl zr z1
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.3700 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.4500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-500.2 130.3 0.0 0.0 0.0 -236.4
-27.2 0.0 0.0 0.0 0.0 0.0
-527.5 0.0 0.0 0.0 0.0 0.0
-27.2 0.0 0.0 0.0 0.0 0.0
-527.5 0.0 0.0 0.0 0.0 0.0

FORUMS8



- 105 -

Md (kNm) 236.4 Mud (kNm) 513.7
N"d(kN) 500.2 N"ud(kN) 500.2
N"oud(kN) 4820.0
vi 1.150
yi*Md/Mud 0.529
vd(kN) 0.0 Ved(kN) 146.1
Md (kNm) 0.0 - Vyd(kN) 461.4
As(mm?) 3971.0 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 764.3
d(m) 0.3700 vi 1.150
Mo (kNim) 41.7 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 130.3 Ved(kN) 158.5
Md (kNim) -236.4 - Vyd(kN) 542.0
As(mm?) 3971.0 | fwcd (N/mm?) 5.37
(yp) bw(m) 0.5000 | Vwcd kN) 929.6
d(m) 0.4500 vi 1.150
Mo(kNm) -41.7 | yi*Vd/Vyd 0.276
yi*vd/Vwed 0.161
Mtd(kNm) 0.0 yi 1.150
Md (kNm) 236.4 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 130.3 Md  Mtd( ) 0.623
Vd  Mtd( ) zp: 0.000
yp: 0.221
Md  Mtd( ) 2.050
Vd  Mtd( ) zp: 0.000
yp: 0.000
« ) Mtd (kNm) 0.0
«C ) Mrd(kNm) 0.0 | ocl( Y(N/mm?) 1.77
« ) Md (kNm) 0.0 | oc2( ) (N/mm?) 1.68
« ) N"pd(kN) 527.5 C  Hwi(mm) 0.0
¢ ) N*rd(kN) 27.2 ¢ Hw2(mm) 0.0
( ) N*d (kN) 554.7 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.231
() Vpd(kn) 0.0 Yved(kN) 210.7
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (kN 0.0 (  )ved(kn) 209.0
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 osp(N/mm?) 120.00
( ) Vpd(kN) 0.0 Yved(kN) -228.6
C ) vrdcky) 0.0 | Vd/ved 0.000
C ) vd (k) 0.0 (  )ved(kn) 226.7
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mi’) 120.00
« ) Mtpd (kNm) 0.0 Mtud(kNm) 2548.1
C ) wtrd(knm) 0.0 | Mtd/Mtud 0.000
C ) Mtd (knm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 571.6
yp: 667.7
Mtl (kNm) zp: 2520.7
yp: 2520.7
Mt2 (kNm) zp: 0.0
yp: 0.0
ow(N/mm*) zp: 295.00
yp: 295.00
« ) Mpd (KNm) 0.0 osrd(N/mm’) 0.00
¢ ) Mrd(kNm) 0.0 o"crd(N/mn’) 0.00
« ) Md (kNm) 0.0 Fsrd(N/mm*) 175.97
( ) N"pd(kN) 527.5 f*crd(N/mm*) 9.88
« ) N*rd(kN) 27.2 yb 1.000
« ) N"d (kN) 554.7 yi 1.000
N 2000000 0.000
0.000

FORUMS8




- 106 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 148.5

N 2000000 Vred (kN) 63.4

@zp) k2 0.500 (b ved (kN) 193.0
yi 1.000

0.000

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved (kN) 161.1

N 2000000 Vred (kN) 68.8

(yp) k2 0.500 (b Ved (kN) 209.4
yi 1.000

0.000

FORUMS8



- 107 -

18) 22 - X = 3.620
a) Limit State 1

Limit State 1

B (m) 0.500
H (m) 0.500
(SD295) D32*10 7942.0
(mm*) 7942.0
A(m®) 2.5000E-001 | A®(m*) 0.0000E+000
Yp
O O O O yu(m) 0.250 | ylI(m) 0.250
zr(m) 0.250 | zI(m) 0.250
L(m*) 5.2083E-003 | 1,(n") 5.2083E-003
Wzu(m®) 0.021 | wzI(m) 0.021
H
Zp Wyr(m®) 0.021 | Wyl(m®) 0.021
Ao(m) 1.500 | Ai(m) 0.000
J(@m) 8.6352E-003 | B(°) 0
O O O O O -
Ao :
0 ’ " I I I I
Wzu = —, Wzl = —, Wyr = —, Wyl = —
yu vyl zr z1
zp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.3700 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm*) 295.00
yp bw(m) 0.5000 Aw(mm?) 573.0
h (m) 0.4500 Ss(im) 0.1500
as(®) 90
(N/mm?) 440.00
(N/mm?) 295.00
L1
N(kN) Syp(kN) Szp(kN) T(kNm) Myp (kNm) Mzp(kNm)
-500.2 127.1 0.0 0.0 0.0 230.0
-27.2 0.0 0.0 0.0 0.0 0.0
-527.5 0.0 0.0 0.0 0.0 0.0
-27.2 0.0 0.0 0.0 0.0 0.0
-527.5 0.0 0.0 0.0 0.0 0.0

FORUMS8



- 108 -

Md (kNm) 230.0 Mud (kNm) 513.7
N*d(kN) 500.2 N*ud(kN) 500.2
N"oud(kN) 4820.0
yi 1.150
yi*Md/Mud 0.515
Vd(kN) 0.0 Ved(kN) 146.1
Md (kNm) 0.0 - Vyd(kN) 461.4
As(mm?) 3971.0 | fwcd (N/mm?) 5.37
(zp) bw(m) 0.5000 | Vwcd kN) 764.3
d(m) 0.3700 yi 1.150
Mo(kNm) 41.7 | yi*vd/vyd 0.000
yi*Vd/Vwed 0.000
vd(kN) 127.1 Ved(kN) 158.5
Md (kNm) 230.0 - Vyd (kN) 542.0
As(mm?) 3971.0 | fwcd (N/mm?) 5.37
(yp) bw(m) 0.5000 | Vwcd kN) 929.6
d(m) 0.4500 yi 1.150
Mo (kNm) 41.7 | yi*vd/Vyd 0.270
yi*Vvd/Vwed 0.157
Mtd (kNm) 0.0 yi 1.150
Md (kNm) 230.0 | yi*Mtd/Mtcd 0.000
Vd(kN) zp: 0.0 Kt(m®) 1.000
yp: 127.1 Md  Mtd( ) 0.609
Vd  Mtd( ) zp: 0.000
yp: 0.215
Md  Mtd( ) 2.458
Vd  Mtd( ) zp: 0.000
yp: 0.000
«C ) Mtd (kNm) 0.0
«C ) Mrd(kNm) 0.0 | ocl( Y(N/mm?) 1.77
« ) Md (kNm) 0.0 | oc2( ) (N/mm?) 1.68
«C ) N*pd(kN) 527.5 ( YW1(mm) 0.0
«C ) N"rd(kN) 27.2 ( YW2(mm) 0.0
( ) N*d (kN) 554.7 wa(mm) 0.2
k 1.000 | W1/wa 0.231
k 1.000 | W2/wa 0.231
( ) Vpd(kN) 0.0 Yved(kN) 210.7
( ) Vrd(kN) 0.0 | vd/Vcd 0.000
(¢ ) vd (kN) 0.0 ( YVed(kN) 209.0
(zp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Vpd(kN) 0.0 Yved(kN) -228.6
( ) Vrd(kN) 0.0 | vd/vcd 0.000
(¢ ) vd kN) 0.0 ( YVed(kN) 226.7
(yp) k 1.000 owpd (N/mm?) 0.00
k2 0.500 asp(N/mm?) 120.00
( ) Mtpd (kNm) 0.0 Mtud (kNm) 2548.1
( ) Mtrd(kNm) 0.0 | Mtd/Mtud 0.000
( ) Mtd (kNm) 0.0 Mtyd (kNm) 0.0
k 1.000 Vyd(kN) zp: 571.6
yp: 667.7
Mtl (kNm) zp: 2520.7
yp: 2520.7
Mt2 (kNm) zp: 0.0
yp: 0.0
ow(N/mm*) zp: 295.00
yp: 295.00
( ) Mpd (kNm) 0.0 asrd(N/mm?) 0.00
«C ) Mrd(kNm) 0.0 o crd(N/mm?) 0.00
« ) Md (kNm) 0.0 Fsrd(N/mm*) 175.97
( ) N"pd(kN) 527.5 f*crd(N/mm*) 9.88
« ) N"rd(kN) 27.2 yb 1.000
( ) N*d (kN) 554.7 yi 1.000
N 2000000 0.000
0.000

FORUMS8




- 109 -

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved(kN) 148.5

N 2000000 Vred (kN) 63.4

@zp) k2 0.500 (b ved (kN) 193.0
yi 1.000

0.000

( Vpd (kN) 0.0 0.000

( Vrd(kN) 0.0 (b Ved (kN) 161.1

N 2000000 Vred (kN) 68.8

(yp) k2 0.500 (b Ved (kN) 209.4
yi 1.000

0.000

FORUMS8
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